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(A 1943 (1) 1946 (C) 1947 (D) 1949
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(C) FalguniShah

Harsha’s military expansion in the Deccan was checked by

(A) Pulakesin I (B) Dantidurga

(C) Pulakesin 11 (D) Mahendravarman 1

Jamnagar, historically known as Nawanagar (the new town), was one of the most important
princely states of the in the region of Saurashtra. '
(A) Jadejas’ (B) Solankis’

(C) Chudasmas’ ' (D) None of the above

Which of the following parties were established by Dr. B.R. Ambedkar?
I. Peasants and Workers Party of India ¢

I1. Scheduled Castes Federation

II1. Independent Labor Party ]

(A) I and II only : (B) 1I and III only

(C) I and III only (D) L, II and III

After launching the Quit India Movement, British officials arrested Mahatma Gandhi, and
confined him in ; .

(A) Yerwada Jail (B) Bombay Prison

(C) Ahmednagar Fort (D) Aga Khan Palace

'preside;l over the first session of the ProgresSive Weriters Association in Lucknow in 1936.

(A) Rabindranath Tagore (B) Krishan Chander

(C) Munshi Premchand (D) Josh Malihabadi

Damodar Mauzo has received the 57th Jnanpith Award for his contributions in literature.
(A) Konkani (B) Malayalam

(C) Tamil (D) Kannada

Prime Minister Narendra Modi has launched two schemes called Amrit Dharohar and MISHTI
Yojana to revive

(A) Desert Eco System

(B) Ldkes and Ponds

(C) Wetlands and Mangroves

D) Endéngcred Species

Prime Minister Narendra Modi penned a song “Abundance in Millets” with Grammy

winner

(A) Ricky Kej (B) Tanvi Shah
(D) Tanushree Patel

The fdnious “()hjecllv'cs Resolution” was passed by Jawaharlal Nehru in the year
14) 1945 (B) 1946
1947 (D) 1949
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Total readings were conducted on the Draft of the Constitution of India.
A)3 (B) 4
©2 (D)1

In a party, there is food for 60 adults or 100 kids. If 75 kids have eaten the food, how many adults
can be catered to with the remaining food?

(A) 20 (B) 15 (©)25 (D) 12

The average of the first 5 perfect squares is:
(A) 9 (B) 10 ©) 11 (D) 12

Which set does not represent a ‘Pythagorean triplet’?

(A)6,8,10 (B)7,24,25 (C) 10,24, 26 (D) 12,13, 25

In an Arithmetic Progression, 17th term is 28 and 28th term is 17. Find the 45th term.

(A) -5 (B) 45

©)-1 (D) None of the above

Anumljé.r is selected randomly from 1 to 20. What is the probability that it will be a prime number?
A)04 . (B) 0.5

(C) 0.6 (D) None of the above
Ifa:b=2:3andb:c=4:5,thenfinda:b:ec.

(A)4:5:6 - (B)8:12:15

(C)2:3:4 (D) None of the above

An article is sold for Rs. 2400 at a loss of 20%. What would have been the actual profit or loss if it
had been sold at Rs. 3600?

(A) Profit of 20% _ (B) Loss of 10%

(C) Profit of 50% (D) None of the above

In how many years, a sum of Rs. 16000 doubles, at the rate of 20% simple interest per annum?
(A4 B)5

(C)8 ' (D) None of the above

In a codec language, “GIVE” is coded as “HHWD”, What would the word “THANKS” be
coded as?

(A) UGBMLR (B) SGBMLR
(C) SIBMLT (D) None of the above

Find the median of 5, 4, 8, 16, 10 and 7.
(A)7 (B) 7.5
©8 (D) None of the above
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A) 36 B 54 3 0 D) 72 X Y
(A) (B) 108 ol (©) W() Q‘b.,m';q.--;"
024, 60 (el ao{Hi afis udleuai 6191 AR e51521 247 19159024 vl 2pgilniz 3:2 8. ALK
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(A) 25 B) 15 (C) 20 (D) 30
o \e
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16 x4-10+2+12=18 b oty
(A= #lx 0 1Y ) cad - (© -+ (D) - +

0287403 sl 16413 visleo oz Sl wdl SULAAR 2, AL
1. great 2. grateful 3. greet 4. gratuity
(A)2,4,3,1 (B)2,4,1,3

O3 24— ()4,1,2,3

029. 15 [sellaun wis 4%+ 539 U2 g5t 1 Belaumg ar-y Guaoy B, aemi w1 d2an quid w1y
“TargAlanil Gudlon 9 s uuat open] s ud 03 ?
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Two bus tickets from city P to Q and three tickets from city P to R cost Rs. 77, but three tickets

from city P to Q and two tickets from city P to R cost Rs. 58. What are the fares for cities Q and R
from city P respectively?

(A) Rs. 4, Rs. 23 (B) Rs. 13, Rs. 17
(C) Rs. 15, Rs. 14 (D) Rs. 17, Rs. 13

Today is Arun’s birthday. Five years from today, his age will be thrice as compared to his age
5 years ago from today. How old is Arun today?

(A) 15 years (B) 20 years

(C) 5 years (D) 10 years

In Red, Green and Blue colored boxes total 216 balls are placed. There are twice as many balls in
the Green and Red boxes combined as there are in the Blue box, and twice as many balls in the
blue box as there are in the Red box. How many balls are there in the Green box?

(A) 36 - (B) 108 (C) 54 (D) 72

In a class of 60 students, the number of boys and girls participating in the annual sports is in the
ratio 3 : 2. The number of girls not participating in the sports is 5 more than the number of boys
not participating in the sports. If the number of boys participating in the sports is 15, then how
many girls are there in the class?

(A) 25 (B) 15 (C)20 (D) 30
The sum of three consecutive multiples of 5 is 90. What is the largest number?
(A)25 (B) 30 (C)35 (D) 40
If the LCM and HCF of two numbers are equal, then the numbers must be

(A) Prime Numbers (B) Composite Numbers

(C) Equal h (D) None of the above

The following equation is incorrect. Which two signs should h{:,.jﬂstcr:bhangcd to make it correct ?
16 x4-10+2+12=18 .O,A}P\.A

(A) = and x (B) x and -

(C)+and - (D) —and +

Arrange the following words as per order in the dictionary.

1. great 2. grateful 3. greet 4. gratuity
(A)2,4,3,1 (B)2,4,1,3° (03,2, 1,4 D)4,1,2,3

We want to weigh 15 kg. of sugar with only 1 kg weigh stone. What is the minimum number of
times we would use the stone to weigh the entire lot of sugar?

Atul, Anil, Amit, Ajit and Ajay are standing in a row in the order of their heights. Atul is shorter
than Anil but taller than Ajay. Amit is the tallest. Ajitis a little shorter than Anil but little taller

than Atul. Who is the shortest?
(A) Ajay (B) Anil (C) Ajit (D) Atul

BoR] [PT.0.
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oz a5 audl curdla eiRsd A 14 56 Nd oA 8 7
(A) QAR5 uReaw-ll 414 (By Renunciation)

(B) S (By Termination)

(®) ¢Sl4dl daudll (By Deprivation)

(D) GuAsd dHH
 OBCs 2 aBis Azeudiui 2-iid UL HuALE (exception) .o siRgllu Rl 2R
2005 g1 GAAHT el

(A) 90ML (B) 913 (C) 934 (D) 9741

. 02 20l N4 52 R / s QRal euRd-L {HREHL 563 28 AUZUIR A 87

1. 2iyeiud st eidoel Ronad dals zami SSua s whis Biaer 2wl a5 A4l

TL 21 2w 53¢l 2l sl il asi Anadl dals iz Riaa Adl A8 alsad ddl
sised 2iutdl 1Bls Bae oot dardl 2aa Ad izl aaadl S1Suel IS GuIA-IHE 81%2
2ardl 5% Wil asd 4l '

(A) WA 1 o (B) " 11

(C) I daL 11 61 : (D) T a 11 A Hidl 245 uaL 4l

52321 erRalAl §2% A wt WRAR S HAMA §3% Gl AS A, 2L oUetdA Hedd AR GHRaL 2431
oernal 56 AR 540 ? '
(A) wuH adladl YarRau 2l (B) 2aef R AR
(€) 2. At al AF(A (D) Asteey -uag A

s s9leud 29l D A4 &6 AN / Al dleu Ad Al ®?
1. 5@-74 024RA A1U 52 2 AU HALS Akl W2 Akisa
IL 5a¥-77 HIRd URIR-L s1481% ] A

(A) WA | (B) W 1
(C) 1 daL I1 6= (D) T 242 11 6L widll 245 ust dl

auzd- 2izzui RRY urdidl (motions) ¥(3 DA WA £y [Qui-t / sul Qe A O ?

1 euzd-d dusul AR s AHUA (closure) Hdld .

(1. [@iufasiz (Privilege) Medid HizA {AR G121 o 2% 53 As 6.

111, st (Calling Attention) M3Alel HI 2URL5 AL 6L G1R1L Y 2% 53 A5 8.

Iv. s12d 3i146) (Adjournment) Hadld E14A 52 W2 BGIHT 20191 25 Al el ¥3A B,
(A) 1,11, 11 21V (1) WA T, 1A 1V

(C)x4 ! (D) WA L, TR 1V

E [BGR] [Contd.



031.

032.

033.

034.

035,

036,

By which of the following ways, the people lose their citizenship of India?
(A) By Renunciation

(B) By Termination
(C) By Deprivation (D) All of the above

Resor\-'allfms for OBCs in educational institutions, this exception was added by the
Constitutional Amendment Act of 2005.

(A) 90th

(B) 91st
(C) 93rd

(D) 97th

As per Article 28 of the Indian Constitution which of the following statements is/are correct?

I. No religious education shall be provided in any educational institution wholly maintained out of
State funds.

I. No person attending any educational institution recognised by the State or receiving aid out of
State funds shall be required to take part in any religious education that may be imparted in
such institution or to attend any religious worship that may be conducted in such institution.

(A) Only 1 (B) Only 11

(C) Both I and 11 (D) Neither I nor 11

Which among the following committees has recommended to add “Duty to Pay Taxes Should also
be a Fundamental Duty of the Citizens” as Fundamental Duty?

(A) First Administrative Reforms Commission
(B) Swaran Singh Committee

(C) J. S. Verma Committee

(D) Chandrababu Naidu Committee

Which of the following pairs is/are correctly matched regarding Union Executive?
L. Article 74 — Council of Ministers to aid and advise President

1L Article 77 — Conduct of Business of the Government of India

(A) Only 1 - (B) Only 11

(C) Both I and 11 (D) Neither 1 nor 11

Which of the following statements is/arc correct regarding different motions in Indian Parliament?
I. InIndian Parliament, there are four types of Closure Motions

IL.  Privilege Motion can be moved by the ministers only

L Calling Attention Motion is moved by the Ruling party members only

IV. Adjournment Motion requires at least 25 members' support to admit it

(A) L 11, 11 and 1V (B) 1L, LI and 1V only

(C) I only (D) I, L and IV only

[BGR] [PT.O. —n
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vanadl 2 2l 243 Ad-u U4 4 8 dlou A ANAAL D ?

(A) Ad, A, Radl 1@@ - sl ARl W2 danud-ll 2anH sl A,

@) . 3. gorrt ARMMA —vudl sl sl 22 4 Al Yea-dl €ldl AS,

(€) 2usoNa uAR - €35 Freami anad -tieu 24 wulls Wl 2.

(D) Gu s WA A5 ut 4l
s oitella 3Rl AR vidsld 3aaulia Hen RedlA AR £ A s2auui sl ?
(A) 674 (B) 693 (C) 711 (D) 1004

22519 20 (receipts) QA DA W4 sy [ / 50 Qurl At 8 ?
1 udydl 2uasui 5320 2uas da Bi-53R suasHl wuda a8,
IL 3891 2145 (Capital receipts)4i et aydl da [ARdx (disinvestments)-il 112 A B,

(A) T a2 I1 bid B) 1Al

(C)HA Il ' (D) Gulsdt LA As uw 4l

gonau astzay w2 AL Ad QA0 A4 s wag AamiAdB?

(A) 2ul32Hi w21dl © (B Ass 2rtiud el (Bu Aad a)ui au13l
(C) 618 £ 8218l - (D) G-Secs-l wilel

DA-u U4 s el AU D ? |

I uedl 21 R0l 1n. dlegdl Comngd IV. s¢eU

(A) HA TI, T AL TV (B) WAL TTAHA TV

(C) WA 1 244 111 (D) L IL L 3 IV

gyt eedlus geu QA A1 U s Rl v 8 ?

L eeczust 4ed Wil © i efasiail ngeayel w2l R wxag 8.

11 A48l eaui B uistn t-tan 2 AL g sou 581 adu oiud 8.

1L 9ig s 8 5 dgl euxdld uizgls BBzl acl s Al Aui ua v s34 esrfasul
Nl 211 sedlast e AR sA 9.

(A) 1, 1124 111 (B) 3A 1 2L T

(C) WA 1 2L 11 (D) AT A 1

Yozl eetsdl (sl A W4 su [l aea 8 ?

I gl 2l Gellor 21wl sadasdt WAL 215 © B0l GEeid HUd AHUAULL £33 2l U
g 5,

11, slum, 4, et oA 2 da (alere walou 2 sl 2usds avue-l Aiglds eud ©.

111, uztouAl wtelvll efgell wiA qeuz wald aza-fl o susgadl UR 25 i oud (patterns)l 2L 53 8.

(A) I, 11 dut 111 (B) MtA 1134 111

(C) | 1« 111 (D) WA L AL 11

W [BGR] [Contd.
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Which of the follow; e

(A) LM Sin hﬂ-in“mg pairs is correctly matched regarding Panchayati Raj institutions?

(B) PK Thug Vi Committee — Nyaya Panchayats should be established for a cluster of villages
ngan Committee — The Panchayati Raj bodies should have a fixed tenure of four years

C) Gadgil j ;
( )distrgict Committee — Establishment of Panchayat Finance and Economic board in every

(D) None of the above

Vhich i —
;flsz]]l?: the following Constitutional Amendment Act provided special status to Union Territory

(A) 67" (B) 9™ (C) 71+ (D) 100
Which of the following statements is/are correct regarding government receipts?

I. Revenue receipts consist of tax revenues, non-tax revenues.
I1. Capital receipts consist of recovery of loans and disinvestments.

(A) Both I and II . (B) Only I

(C) Only 11 (D) None of the above

Which among the following measures is normally undertaken to reduce inflation?
(A) Decrease Repo Rate (B) Increase Cash Reserve Ratio
(C) Decrease Bank Rate (D) Buy G-Secs

Which of the following dance forms are from Gujarat?

I. Palli Jag Garbo II. Vinchhudo

III. Hudo IV. Kahalya

(A) IL, IIT and IV only (B) I, I1 and'TV only
(C) I and III only (D) L IL, III and 1V

Which of the following statements are correct regarding the Hallisaka dance of Gujarat?

I. The Hallisaka Dance is antiquated and dates back to a vital work of Parsi literature.

II. The dancers form a circle with their hands joined to form a chain.

I1L. It is said to have inspired many composite genres in Indian cultural expression, especially
those of the Chhalikya songs and the Hallisaka dance.

(A) I, 11 and 11 (B) II and 11 only

(C) I and 111 only (D) I and IT only

Which of the following statements arc correct regarding the handicrafts of Gujarat?

I. The Zari industry of Surat is onc
Mughal period.

I, The Rogan, Zari, Tye and die
patterns.

HI. The unique tic and weave me

fabric.
(A) L 11 and 111
(C) 1 and 111 only

of the oldest handicrafts whose origin can be traced to the
and exclusive Patolas are the State’s graceful textile culture
thod of Patola results in identical patterns on both sides of the

(B3) 11 and L1 only
() 1 and 11 only
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044, dngian] ARd Ys Ry aerguad’ A ... Guz-l 2iyel sl 8.
(A) 21 WA (B) xd adlaz s
(C) cunsRul (D) dlBis an

045. 9%AdHl sl R A su Rl we 8 ?

L ool eudla 2l eedn adld 2lonud dladlde (jdualRea) dadiaa sl umsl arlla
2l ARani eald 8.

I 1877 i 2wl 529 nsia B Yd: D523 Ansiad a3 aellg ed.

L 318l 25Re1Sa wun (s dasia) wd 85 174 aél-u gelo susd Puvard slasllal
cussi-l sdedlmi nelia 53 9.

(A) I, 11 244 111 | (B) A I1 244 111
(C) WA T 34 111 ; (D] WA T 241 11
046. 04 gvel’ (Nil Darpan) 125 3 % 21 Geanesi-l gdien Ml WRRAA asl 53 B d e gL
ML 20U .
(A) dIRL 12 gl (B) [B-eiy P
(C) L -1y 8ly (D) tifln3ig Y2

047. A~ U4 s 2adi i sou fedld 2uog qan e ?
(A) Ria (B) 54
(C) HeldlR (D) GuRlsd WAL 25 wa +dl

048. adtza adaui2qwddl As wA e s8 V9 ?

(A) edlsa ala (B) Aaavil i
(C) 2l &l cua (D) A W2uR a1
049. HEA-e5 vuddl vAd ‘g 52l 153 (Dancing girl) Rieusld .......... figl ¢dl.
(A) 51y (B) wiel
(C) divy (D) R

050, cuzdui 2z 20 2udar gAfla-ld duq smsugu s,

1. [l 1. 32

1. ugolls ' 1V. 83

(A) I, L, 1V, 1 (B) 11, IV, 1, 11
(©) 1L, 11, L1V (D) 1L, IV, 11, 1
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044. The book Siddhahem Shabdanushasan by Hemchandracharya is an exhaustive volume

on
(A) Economics
(C) Grammar

(B) Statecraft
(D) Yogic Life

045. Which of the following statements are correct regarding the museums in Gujarat?

1. The Ethnology Museum known as Bharatiya Sanskruti Darshan in Bhuj ep|tom|zes the rustic
lifestyles of the Kachchhi village

II. Kutchh Museum established in 1877 was originally known as the Anderson Museum

II1. Famous carved wooden Havelis with rare textiles dating back to the 17th century is displayed
at Calico Textile Museum.

(A) 1, 11 and III
(C) I and 111 only

(B) I and III only
(D) I and 1I only

046. The play ‘Nil Darpan’ that portrays the depressed conditions of the indigo cultivators is

authored by

(A) Tara Nath Bandyopadhyay (B) Dinabandhu Mitra
(C) Tara Nath Ghosh (D) Bankim Chandra Chatterjee

047. In Gandhara School of Art, which one of the following deities is a prominent feature?
(A) Shiva (B) Krishna
(C) Mahavira (D) None of the above

048. Which of the following is the only stepwell in Vadodara city?

(A) Helical Stepwell (B) Navlakhi Stepwell
(C) Rani Ki Vav (D) Ra Khengar Stepwell
049. The ‘dancing girl’ sculpture found from Mohenjo-daro was rn_ade of metal.
(A) Bronze (B) Silver
(C) Copper (D) Brass

050. Arrange the following Europeans in chronological order who had come to trade in India.
L. British
IL. French
I11. Portuguese
IV. Dutch
(A) LIIL IV, I (B) LIL, 1V, 1, 11
(C) I, 1L 1,1V (D) 1L IV, 1L 1

[BGR] [P.T.OI




051. Aa-a WAz s\ulRan 25 $(3ul (National Payments Corporation of India) (NPCI) EHEIDER
sut [l e ?

I. NPCI 2 RBI da $-§lu-t 65 20lzAaql uda 8.

1. $ul RRUH 2013 2ido{d A ‘Not for profit’ (-igt 12 AR) Su-ll a3 wHulde s2mi 2udl 6,
11 aRs1Ss W2 223 (UPT) ysasll weudl 24 (NPCI) g1t RsRid sami 2udl 8.

(A) 1, 11 A1 111 (B) {11 244 111 (C) Hizt 1 244 111 (D) HA T A 11

052. RBIHl -t 24202 031 U4 s &0 swals Ax-u Buami wafe © ?

Lyt e Glad 11 [Qle

1) RERTCTEY IV. AHIDS HINUIZY ARl
(A) AT AR TV (B) Wt T, T A TV
©uAT AT © D) LIL I 244 1V

053. 3 oon [@sl QA VA su Q- acw 9 ?

L s s, wilds dr[s euiza 214 2igadl ds(Rs exvurdl (Initial Public Offer and
Follow up Public Offers) 121 61811 Gaj s2cumi 21 6.

I1. s o112 New Issue Market (Hdl 91214 HEe) ddls uat il O,

TIL 302 64212 (92 4%R) (Secondary Market) 24 8 3 osui su-lail-l iaqdl 1508y (l-04)
(Securities) -l 2215 Y 5AA2A GIRA SRR A €9,

IV, 050N (@l1204l) (Sceurities) - WaFs o192 BHd 24 6122+ HidL 24 yrasid 2uHl

Ruifla au 8.
(A) 1, 1L, 11T A4 1V (B) A T1, I AR 1V
(C) HA T, 11 244 111 (D) {A T A4 1V
054. ‘Gold Tranche (Reserve Tranche)’ .......... Al deel 9,

(A) [@2 -5 (B ueud

(B) 3-1a Ars-fl sl Ami-l 2Us

(C) WTO gIR1 a-it £ Her sl 2iiadl Bue naudl .
(D) IMF gt2t -t el uet s2ami 2iadl Rue weudl .

055. 13104 520l 22 5290UId Agry 251 ¢ a0l 2dl wis el ?
(A) 4G (B) HU3H (C) vye-l e (D) ¥4

. 056. G20 [@3l A1 U4 sy @i / su [l aed © 7
1. G20l zau-t ad 19994 s2ami 2udl dl,

, 11, e2dl UABALAL AHY £300 G20 218 51 (Troika) L gL S-SlARL, (ud 2 e ulbs ©.
11 G204l vitgidl A 1o 2el azdl g2 ol ad aigadl oleeudl 24 6.

(A) WA | (B) 1, 11 4 111 (C) HA 11 24 11 (D) Mt 1 244 11
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051.

052.

053.

054.

055.

056.

:;lll:cc:ll:)(;f the following statements are correct regarding National Payments Corporation of India
I. NPCl is an initiative of RBI and Indian Banks’ Association (IBA)

II. 1t has been incorporated as ‘Not for Profit’ Company under the Companies Act 2013

II. Unified Payments Interface (UPI) is a payment system developed by NPCI

(A) I, Il and 11 (B) IT and T only

(C) 1 and IIT only (D) I and IT only

Which of the following sectors is/are included in the Priority Sector Lending as per RBI direction?

1. Rencwable energy
II. Education

111. Housing

IV. Social Infrastructure
(A) 1 and 1V only

(O) I1 and 111 only

(B) IL, I1I and IV only
(D) L 1L, 11T and IV

Which of the following statements are correct regarding Capital Markets?
I. In Primary Markets, funds are raised by Initial Public Offer and Follow up Public Offers

II. The Primary Market is also called as New Issue Market
III. The Secondary Markets are where existing securities of companies are traded through stock

exchanges
IV. The Primary Market price of securities is determined by the demand and supply of the market

(B) II, I1I and IV only

(A) I 11, Il and IV
(D) I and IV only

(C) 1, 11 and III only

“Gold Tranche” (Reserve Tranche) refers to .
(A) A loan system of the World Bank

(B) One of the operations of the Central Bank

(C) A credit system granted by WTO to its members
(D) A credit system granted by IMF to its members

Which of the following is not a Rabi Crop under 22 mimdated_ minimum support price crops?
(B) Mushroom

(A) Wheat
(D) Barley

(C) Masur Dal

Which of the following statements is/are correct regarding G20?

I. The G20 group was established in the year 1999

II. During India’s Presidency, the members of the G20 Treoika are Indonesia, India and South
Africa

I11. The presidency of G20 rotates between the member countries aft

(B) 1, 11 and 111

(D) 1 and 111 only

er every two years

(A) I only
(C) I and T only

rro. KEA
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057, DA A4 51 ARRAY cnzaui 200 selsH ua 2ua-lse [@lBer Guulad ol dum uglis)
W2 Yoyd Ruarsidl vy ud 9 2

(A) Asu[s A wR3L 1958 (Scientific Policy Resolution (SPR), 1958
(B) 208loA ABMUH, 1962 (The Atomic Energy Act, 1962)

(C) g &ld W2 RS €1l 24RARUM, 2010 (The Civil Liability for Nuclear Damage Act, 2010)
(D) [@su, as0Lé 2 45201 AR, 2013 (The Science, Technology and Innovation Policy, 2013)

058. “UMANG’ Hltud el 9168 .......... W12 QU 8

(A) Unified Mobile Application for New-age Governance
(B) Unity Mobile Application for Novel Governance

(C) Universal Mobile Application for Novel Governance
v (D) GuRlsa WA #As uw ]

059. Aua -lA% A2a8 (NKN) UL J1d A% 8-l PoP (W2 vilg Noyw)dl 2 s2ami 2udl 6
LT R ol Ayl sda 8.
(A) #2013 (B) 24212 2013 (C) [3A342 2014 (D) g 2015

060. NA-u UL sy Suar A Sl Al Hleg wHa ud 9 ? "
(A) CNG (B) S61R (C) Slaril D)LPG ‘%«

061. %

. \

o
Bl 20l ualia A uaR 10 ard Alsufl, 4 Galllzz wld sasd ssl i 53 8. caldd B oiwld 12 aod
~ 3y Raund, 6 ez uld sansl 330 e a2 43 9, Uldd A vA ulzd B A

‘m—l 24l 419y
Yo ?

(B) 3 w3 #iw (C) 6 Ay Uiy (n"il“?‘aq%q FJ/

=Tl
062. A2 Huusl-l »zawil 234 9. A4 wedl 21 6l qvaidl Al 4:5 © 27 ol wd Ao el
i _/’*ﬁ‘“’- 8:9 69, dl ofleo sl 9ilHl,

(A) 60

(A) 4 Qi 1%

n bt

]

,p‘ ‘6
. g ) 3
(B) 80 (C) 64 q ()28 }Eﬁ
: e 7% 24
063, A dodlz Al £25 siegeil a yels Al vla dl 24 a-éhﬂa»{l 1}‘:11?1 Aol Szt Aoy ol 9k ?
_AA)T (1) 9 (€) 6

(D)8
064. A aelvis A A B9, A vis A uidl s [aeudloiid vis i3 i sseani 20a dl ot visni Rendlei- v

At A A Vs Bl 10 (Qendloiin vis A Wi disqami 2ud dlvis A wivis B s34l Renellz- v
ol 2, dlvis A Ui [Rendloi g divan sedl og) v

‘ y <
sl Y N %P\ i \‘b
(A) 50 (13) 40 it 1:'0
(C) 65 (1) Gul st qé_giwufqg
16 | [BGR]
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Which of the following Act provides the basic regulatory framework for all activities related to

057.
atomic energy programme and use of ionizing radiation in India?
(A) Scientific Policy Resolution (SPR), 1958
(B) The Atomic Energy Act, 1962
(C) The Civil Liability for Nuclear Damage Act, 2010
(D) The Science, Technology'and Innovation Policy, 2013 2549
‘ *E
058. The mobile application UMANG stands for . \q/
(A) Unified Mobile Application for New-age Governance “\
(B) Unity Mobile Application for Novel Covcrnancc 3 _RK\Z"‘
(C) Universal Mobile Application for Novel Governance
(D) None of the above 934 -;.,\‘f)
059. Gujarat State Level PoP (point of presence) of National Kn@twurk (NKN) has been
established and made fully functional since
(A) May 2013 i (B) August 2013 LW I
% (C) December 2014 ‘; o (D) July 2015 . ,u?lﬁ 56
060. Which of the following fuels ha&%mipiffium Nitrogen content? A f' " \"’Uhf
(A) CNG (B) Gobar Gas ~ \»
(C) Coal (D) LPG
061. Person A 'stﬁrts from a place at 10 AM and travels at a speed of 4 kmph. Person B starts at 12 noon
and travels at a speed of 6 kmph in the same direction as A. At what time will A and B meet?
(A)4PM (B) 3 PM (C)6 PM (D)5 PM
062. The sum of three numbers is 234. If the ratio of the first to the second is 4:5 and that of the sB‘uml
to the third is 8:9, then the second number is: N é\g
(A) 60 (B) 80 (C) 64 :g ys (D128 4y Lo
i 4]
063. How many rectangles can be drawn wi(h 24 cm as the perimctcnﬁu—l‘lmt the sides are pnsftn'g
integers in cm? i né ) e =8
(A)7 ®9 e L\'fg o6 1% (D)8
k5 - —~<

B fS%%’ludcnts are sent from A to B, then the number

064. There are two class rooms A and B.CI
of students in each room is the same, If 10 students are sent from B to A, then the number

of students in A is double the number of students in B. What would be the number of students j,

roomA?
(A) 50 (B) 40
(C) 65 (D) None of the above

[BGR] [PW
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065. Wi Uil 2 — 33, 0220, As, Mg 2 i uia siefladlai, il ) ogndl, A eAnwi, 43
Rl AR AU 2L B )
Vl. AS ya 31 Gu Ausn el . @ 36\
2. 30 il ad As sl el ., —  — T

3. ugRey ANA S 426 V. - o, IR
4. 31l ofle sRellui QAL 8. - “ﬁ rﬁﬁ) @ ctﬂ N
SAN GRAGR HAAT sAL S0 - 61ell 97 _
(A) 10l i (B) nusa
(€) 331 " (D) Gu.a.“tad U4 25 e el
066. /A x=~/7- /6, y=/6- Jg%i:lz J10- J_.cﬂv[lﬂmaﬂagfc‘mma&@?
(A)x<y<z B)y<x<z
(O z<y<x o (D) Gulsd U4 A5y adl -

067.—/ axg X -l Bud €2 qﬁ'l 50 ;[ﬂ.m gadl ad 6, Ul ng Y -l Bud €2 a 30 30 Fedl ad 8. 25 af
azg X I (B3 200 3R 244 azg Y A [Bud 350 3R 8. F2cn av uehl azg X Al Bad arg ¥ Al Bad
i 50 3L awi ugl ?
(A)5 (B) 10 B (o3 V.

068. 3WXIZ874H34#T106G57RL2 g
Gu2 galda guar gl A gl by ol 221 535 2, 6, 10, 14217119 Y- waRlniell A5 HAMHR

id® 208 t-ttadHi Wid, dl A el WA AR S ST yen T LETWTE
(A) G (B) 1 WOL - T
069, /A A 3ol e+ 3y = 6 %43 3+ y = 4 2sollon A e, L p A (e 3NN ? .
(A1 (B) 1/3 | - L10
(C) -1 (D) GURLs WA A5 wet -1l

070, /»uyell WA n Uil 24 m sl Y. €35 WA 5 50l Avicudl 5 {:tfil adl 9. €35 Wi 6 sl vl
1 94 atuadl 28 9, U1 27 suil) divan 24, .
(A)n =11, m=60 (B) n=10, m=50 »\g\

(C)n=12,m=65 (m GuAsd Ul As uadl &""

[zl yd drast 22.23 et il dla waziaa [a Qs sut tudla 1d? 4l ?
(A) aztel (B) vyled (C) Myl (D) 6141

071.

—

072, wentdd [ie, w4 G At 247 [man zaedl oddl ondla AR giAGui AR ™l )
“UAHT Yaul das ol edl 7
(A) vils4la (3551 40%) (B) 53l
(C) &55['4 (Shooting) n) ols[R-en
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065,

066.

067.

068.

069.

070.

071.

072,

Five fruit juices - mango, orange, apple, guava and litchi are kept in five jars, in a row, from left
to right, as follows:

1. Guava is not on cither extreme.

2. There is one jar between mango and litchi.

3. Apple is placed on the left side of orange.

4, The second bottle from the left contains litchi.

Which juice is there in the middle bottle?

(A) Litchi (B) Guava

(C) Mango (D) None of the above

If x=+/7- \fg,}’='\[6- /5 and z=1/10- /8, which of the following is true?
(A)x<yp=<z (B)y<x<z
(C)z=<y=<x (D) None of the above

The price of commodity X increases by Rs. 50 every year, while the price of commodity Y increases
by Rs. 30 every year. In a given year, the price of the commodity X is Rs. 200 and that of Y is
Rs. 350. After how many years, the commodity X will cost Rs. 50 more than the commodity Y?

(A)5 : (B) 10
(©) 12 (D) 15

[ §
JWXIZ874H34#T106G57RL2 )
Refer to the above sequence. If the letters in the position 2, 6, 10, 14 and 19 from the right are
picked to form a meaningful English word, then the middle letter of that word would be:

(A) G (B) 1

L (D) T

If two lines px + 3y = 6 and 3x + y = 4 are perpendicular to each other, then what is the value of p ?
A1 : (B)1/3

(C)-1 (D) None of the above

There are n boxes and m fruits. If we put 5 fruits in each box, 5 fruits will be excess. If we put 6
fruits in cach box 1 box will be excess. Find the number of boxes and fruits.

(A)n=11,m=60 ’ (B)yn=10, m=50

(C)n=12, m=65 (D) None of the above

Which Indian city made a world record of lighting 22.23 lakh earthen lamps on the eve of Diwali?
(A) Varanasi ' _ (B) Ayodhya

(C) Mathura - (D) Dwaraka

The Indian team comprising Sarabjot Singh, Arjun Singh Cheema and Shiva Narwal secured a
gold medal at the Asian Games in Hangzhou in which sports?

(A) Boxing (1B) Wrestling
(C) Shooting (D) Badminton

[BGR] rero. Y



073. 20234 282 Rsurt i BB Rawg Ada WRARS iysd 4d siedi 545l (Katalin Kariko) 41

4 oA (Drew Weissman)d dHAL .....oe.. Axtell s M2 AU SUHL U,
(A) 2158 C arr ; , (B) mRNA 23l
(C) Wiria Gesild (D) QA2 512 2AR
074. HRaw w2\ AR QA Asflursllu 20234 aorit ue su1 A 53 ¢ ?
(A) 2R (B) HIRvi3 (C) uln vidun (D) 2llat
075. ODI (332 aed suni Al 2550 40 oleui Al 518 yd A ?
p] (A) AR 2l (B) [3212 Sledl (©) Qs a2 (D) 24 A5udd
076. 2023 2A[Au YA 314 (2023 Asian Para Games) Hi A& Uit SAUH] MR Ul J2cy o ?
(A) HaH B) [adlu (€) Ay (D) uiuy
077. euadlu wRus{ 23l (The Competition Commission of India) (CCI) 3 sul 3-lu HoAlay
el dui[As 2z B ?
(A) A Hanau (B) surll sliondle Hauau
(C) -uen HAldu (D) ARz 27 Gedlat 3=uety

078. AR5 (U.S.) g1t AidRand IlRd 2316+ (Transnational Criminal Organization) dd13 (Aysd
s Wagner % su12ag © ?

(A) 25 HUR (B) S+ (©) Rl | (D) M

079. vidass (Semiconductor) R4l (design) Geyten (manufacturing) dl as-A Qs 2 ¢HRdd ARs
gy ortiaall G2 il Gellot A Gell2t {2l euwllerdldl ‘SemiconIndia 2023’ 2l
vid saMl 21 ed.

AR

(A) 1R (B) HHEIAIE (C) adle (D) Y2d
I|I
j 080. 693 20:dlu [Ben 2AdlS 2023 vid 56 [Fend 2w ypdl B YR @il ?
(A) YIS (B) Heell Al
(C) AR Fuq wnsln (D) < YdR1al uai-
081. He goes there on horseback.
(A) a (B) an (C) the (D) no article
082, Ishesuperior__ me?
(A) to (B) with (C) than (D) from
083. I’m right, ? (Select the correct question tag)
(A) amn’t 1 ? (B) amnot 1? (C) aren’t 1 ? D)am1?

I w [BGR]
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073.

074.

075.

076.

077.

078.

079.

080.

081.

082.

083,

2023 Nobel Prize in Physiology or Medicine was awarded jointly to Katalin Kariké and Drew
Weissman for their work in

(A) Hepatitis C virus (B) mRNA Vaccines

(C) Human evolution (D) Receptors for temperature

The Asian Women’s Hockey Championship 2023 was hosted in which State?

(A) Odisha (B) Jharkhand

(C) West Bengal (D) Goa

Who scored the fastest ODI Cricket World Cup hundred in 40 balls?

(A) Rohit Sharma (B) Virat Kohli

(C) David Warner (D) Glenn Maxwell

What was India’s position in medal tally of the 2023 Asian Para Games?

(A) First (B) Second (C) Fourth (D) Fifth

The Competition Commission of India (CCI) is a statutory body under which Union Ministry?
(A) Ministry of Home Affairs (B) Ministry of Corporate Affairs

(C) Ministry of Finance - (D) Ministry of Commerce and Industry

The Wagner Group, which was designated as transnational criminal organisation by the US is
from which country?

(A) Afghanistan (B) Iran

(C) Syria (D) Russia

The ‘SemiconIndia 2023’ was organized in partnership with industry and industry associations
with the aim to make India a global hub for Semiconductor Design, Manufacturing and Technology
Development in ?

(A) Gandhinagar (B) Ahmedabad

(C) Vadodara (D) Surat

Which movie won Best Gujarati Film Award at 69th National Film Awards 2023?

(A) Bachubhai (B) Chhello Show

(C) Char Fera Nu Chakdol ’ - (D) Var Padharavo Saavdhan

He goes there on horseback.

(A)a (B) an (C) the (D) no article

Is he superior me ?

(A) to (B) with (C) than (D) from

I’m right, ? (Select the correct question tag)

(A) amn’t 12 By amnot I'?

(Cyaren’t ] ? (M)yaml?

— rro. Bl



084. The Europecan markets

extremely competitive since the manufacturing capacity of the
Indian market

to improve at the turn of the decade.
(A) are becoming / begins

(B) have become / began
(C) became / begun

(D) had become / would begin

085. Unless he done the work to my standards, I him.

(A) will / would not appreciating

(B) have / shall not appreciate
(C) has / shall not appreciate

(D) shall / will not appreciated

086. IfI were you, | not attend the conference.

(A) may (B) shall (C) would (D) should
087. Please give me tomatoes.
(A) too much (B) a few (C) a little (D) a lot

088. Where do you keep the current newspaper ? (Change the voice)

(A) Where are the current newspapers kept by you'?

(B) Where are the current newspapers being kept by you ?
(C) Where have the current newspapers been kept by you ?
(D) Where have the current newspapers being kept by you ?

089. No other river is as as the Brahmaputra in India.

(A) long (B) longer (C) longest (D) most longest
090. Heexercised on the bikein the gym and thereafter took out the from the cupboard
to note down the duration of the excercise.
(A) stationary / stationary (B) stationary / stationery
(C) stationery / stationary (D) stationery / stationery

091. w3l zsell 2ol

(A) Bdlu (B) Al (©) @dlu () Bl
092. ‘alrAl L #studl wve sul © ¢
(A) 2159 (B) 42\ (C) 2uu (D) 218l

093. ‘flznd’ - woe-l (a2l sul 9 7

(A) vl zaidd WAL s w4l (B) e

(C) (1) ole

094, il od’ 3leuulal ve viiol,

(A) WizAdl ¢l %4 (B) MlRAdl «sq)
(C) ¥Rl 464 %q (D) W= [Qud] mdl
22 | (8GR
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084.

085,

086.

087.

088.

089.

090.

091.

092,

ity

The European markets
Indian market

(A) are becoming / begins
(C) became / begun

Unless he
(A) will / would not appreciating

(C) has / shall not appreciate

If I were you, I

(A) may (B) shall
Please give me tomatoes.
(A) too much (B) a few

done the work to my standards, 1

not attend the conference.

extremely competitive since the manufacturing capacity of the
to improve at the turn of the decade,

(B) have become / began
(D) had become / would begin

him.
(B) have / shall not appreciate
(D) shall / will not appreciated

(C) would (D) should

(C)a !itﬂe (D) a lot

Where do you keep the current newspaper ? (Change the voice)
(A) Where are the current newspapers kept by you ?

(B) Where are the current newspapers being kept by you ?

(C) Where have the current newspapers been kept by you ?

(D) Where have the current newspapers being kept by you ?

No other river is as

(A) long
(C) longest

He exercised on the

to note down the duration of the excercise.

(A) stationary / stationary
(C) stationery / stationary

wdl oA sell 2w,
(A) Badly - (B) Nl

‘U] el 2106 4l 9 ?
(A) b3l (B) 43l

eleun? - goge] [Q314) sul 9 7
“aidg U4l 21s ygt 4dl

1 2l

as the Brahmaputra in India.

(B) longer

(D) most longest
from the cupboard .

bike in the gym and thereafter took out the

(B) stationary / stationery
(D) stationery / stationery

() Rl (D) [2idla

(C) (D) eldl

(B) qiud
(D) Al

(B) 1144l @sq
(D) &l QA wal

[BGR]



095. ‘ol Al d2 ALY - sdad-l 248 woudl.

(A) %% HIE UL HAGLE L9t (B) %A il 247 HAlE el
(C) % il uBl Hd®le uL (D) %2 HIZ 11 HdME qvu
096. 12 U4 sul g wu-l Yausiz Al ?
(A) asleus (B) Ay2ay (C) 144 : (D) AHILIR
097. % AHRUHE B aidar adl gafaiu A4 sl a sdau 9 ?
(A) 344 (B) Gula ()l (D) sdulds1R
098. ARl Ascu-uni -2, &, §, ¢, A — sul AN AL D ?
(A)Ed - (B) 2% (C) ¥4 (D) iy
099. ‘Al 164, U dl 224l MR . = 241 YAl 24512 20wl
(A) 2%gld (B) U@ (C) «aldls (D) »ugld
100. 0Q’ g ©?
(A) AdsIR (B) AHIA
(C) ¢ (D) GuR Ul 25 ym ]
101, 2URAR Rszi Reust sxas vueel Rar szl Rensl €ls alfis 2z AN umde s 32en 3R
. e Ysaai 20d 8 ? ' _
(A) 3L 600 (B) 3L. 900 (C) 3. 1500 (D) 3L. 1200
N 102, a-siy seanen dlog-1 sunavll suad 34l s el ?
Py (A) a4 2008-2009 4l 2019-2020 (B) axl 2007-2008 & 2020-2021
(Cy a4 2007-2008 41 2018-2019 (D) a 2006-2007 4 2020-2021

- stglad gealiu Rendlid Qaz - zeax s w2 alls $dfu / RmgR 22a1 3R
LA 209 O 7

(A) 3L 25,000/- - (B) 3. 50,000/
(C) 3L 75,000/ (D) 3L 1,00,000/-

- we sttt silEoald (s el YA xquR A §1 A @ Al Qa0 Ay dord
LUl 5212 DUl s Arard a4l ay b2an yadl w2 st siuami 2ud 8 ?
(A) 25 (B)20 (€) 30 (D) 15

LBl an Usizit aged 2t sid WalEl B{9iHl (e wdlu 2isan 2 Wi-0e o, uBRui 2itae 29
weu ylua Guzid olloa szal qodl slu e ?

(A)3 (B)4 (©)2 D)5

[BGR] [Contd.




095.

096.

097.

098.

099.

100.

101.

102.

103.

104,

105,

w1z Al Az s - sdad-l w4 eudl.
(A) % HIE UL Hasle il (B) %2 g A HAME lesy
(C) %A -l WR HeARlE Hal (D) %2 HIg 2 Hdsle yeu

A2 14 sul de Al YamsR el ?

(A) ds(eus (B) A2 (C) 144 (D) MR

3 i B adanr adl cafa A4 sul A sdau 8 ?

(A) Yy (B) GulRid (C)wile (D) sHeulder
AR Aseuumi — 2, &, §, &, 2 — sui @Al A D ?

(A) £d (B) ¥il% (C) ¥4 (D) g
‘a3 e, A dl 212l o1 8. = i il m1ei512 vilavil.

(A) gd (B) ¥@aRIuUR (C) uld3s . (D)2ugl
flfe’ g 97 '

(A) AESIR (B) 211y

(C) t9¢ (D) Guz WA A% ugt ]

How much amount is paid as assistance for three pairs of school uniforms per student per year in
the Adarsh Nivasi Schools run by Tribal Development Department ?

(A) Rs. 600 (B) Rs. 900

(C) Rs. 1500 (D) Rs. 1200

From which year and upto which year was Vanbandhu Kalyan Yojana-1 implemented ?
(A) Year 2008-09 to 2019-20 (B) Year 2007-08 to 2020-21

(C) Year 2007-08 to 2018-19 (D) Year 2006-07 to 2020-21

How much amount is given as annual fellowship / scholarship to scheduled tribe students to
study Ph.D, ?

(A) Rs. 25,000/- (B) Rs. 50,000/-

(C) Rs. 75,000/- (D) Rs. 1,00,000/-

As per the instructions of Tribal Development Department of Government of Gujarat for
maximum how many couples, does an organizing institution get assistance to organize group
marriages under “Sat Fera Samuh Lagna” scheme ?

(A) 25 (B) 20 (C) 30 (D) 15

Besides the chairman and member secretary, how many other members are there in the district
level Co-ordination and Monitoring Committee on minimum support price procurement of minor
forest produce ?

(A)3 (B) 4 (©)2 (D)5

[BGR] rro. B
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106.

107.

108,

109.

110.

111,

112.

A w1l ool Renavuni 20w 521 Rendlla it a2 alls sza 3hy
2] 24 & ?
(A) 3L 10,000/- (B) 3L 5,000/ (C) 3. 15,000/ (D) 3L 12,000/

gy oAl Renell>ni dalis uaicisd 3naw dan ayui ay Rendl4 Aabs Qe
A 12 e 10w Breen st ol ulausi wan $3 2uaniz AgyRd woaliu [Qadl 32l 250
Sl AT 204 B ?

(A) 3L 15,000/- (B) 3L 11,000/- (C) 3L 10,000/~ (D) 3L 9,000/-

aely seue dlg2 dsn Zear wlEeald gdel w2 Aowowrasl szl A3 s iy
S 214 8 ?

(A) 6l dw (B) ABL QI (C) via am (D) &4 Al

2uleonld w2 NaAmidl 56 dioge / dioriil 3 12251220 g1 weRa & ?

1. edl 3 2. Rieuza 3. 95l

4. W] 513 5. Hiedlaul-l alor-u

(A)2,3,41 5 (B)1,2,3 41 4
(0)1,2,4011 5 (D) 1,3,4245

UleAld 3 2qRAd goald uRen vulssa Ao igodui NaA-u R 14 sy [Qain / [Qeed)
Y J Al B ? ‘

1. 2R%E1R U3y [Rd eald-l aws GHear gldl ASA.

2. oLl A4, qendl dldl ASA. -

3. A%EIR g4 Gwes A5 Havlll AcuAe Sidl A,

4.2 gl drasi 3, o 3, e 39, wer 3w Mo yu dsa YA A duy

aiyel ayiRt 3 R ude dly- dsn A [ s4223 Rrdize a0l cweusdly Aisnaui
2044 8,

(A) 1343 (B)1,2,3 % 4

(C) 1,224 3 (D) 1,3 211 4

suleeala-u A1%ou2 ealFid “2airoudl dou culFiod B Qo vidsiq VUMAUHT A diAt Yrd
szl yuusnil g © 7

(A) 60 i[5 G (B) 30 BoulRs erami

(C) 15 [rulaes e (1) 20 Coulis v

64424 14 tadluit-z Wgse den viqyad wealin s GReRA 32el 25ull el 2uuardl
ECTORTR

(A) 3L. 30,000/-
(C) 3L 20,000/-

(1) 3L 35,000/
(D) 30 34,400/-

(BGR] [Contd.
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109.

110.

112,

How much amount is given annually as equipment assistance to scheduled tribe students studying
in medical faculty ?

(A) Rs. 10,000/- (B) Rs. 5,000/-
(C) Rs. 15,000/- (D) Rs. 12,000/-

To develop academic competitiveness among scheduled tribe students and maximum students can
achieve academic development, what amount of prize is given to the students of scheduled tribe
who stands first in the board examination in class 10 at the district level ?

(A) Rs. 15,000/- (B) Rs. 11,000/-
(C) Rs. 10,000/- (D) Rs. 9,000/-

Under Vanbandhu Kalyan Yojana-2, for how many tribal families employment oriented
programmes are planned to start ?

(A) Two lakh (B) Three lakh
(C) Five lakh (D) Ten lakh

Which of the following scheme / schemes for tribals is / are assisted by the Central government ?

1. Nahari center 2. Shiksha Rule 3. Ecovan

4. Poultry farm 5. Scheme for fishing

(A)2,3,4and 5 (B)1,2,3and 4
(C)1,2,4and5 (D)1,3,4and 5

Which of the following statement/statements is / are correct with reference to woman empowerment
scheme ?

1. The applicant should be an eligible candidate belonging to scheduled tribe.
2. Should be B.P.L. beneficiary.
3. The applicant should be a member of a Milk Producer Co-operative Society.

4. Under the sanctioned scheme the beneficiaries of villages in the cluster area of Panchmahal
Dairy, Baroda Dairy, Banas Dairy, Sabar Dairy and SUMUL Dairy under PTG group as well as
Vansda Vasundhara Dairy have been linked.

(A)land3 (B)1,2,3and 4
(C)1,2and3 (D)1,3 and 4

What is the repayment period of a loan given to an unemployed tribal person under “Personal
credit under self-employment” (Swarojgari hetal Vyaktigat Dhiran) scheme ?

(A) 60 monthly installments (B) 30 quarterly installments
(C) 15 quarterly installments (D) 20 quarterly installments

What amount of loan Is provided to the eligible candidate of scheduled tribe under Integrated
Dairy Development Project ?

(A) Rs, 30,000/~ () Rs. 35,000/«

(€ ) Rs, 20,000/ (D) Rs, 34,400/~

[BGR) [PT.0. m




106.

107.

108.

109.

110.

I111.

How much amount is given annually as equipment assistance to scheduled tribe students studying
in medical faculty ?
(A) Rs. 10,000/-
(C) Rs. 15,000/-

(B) Rs. 5,000/-
(D) Rs. 12,000/-

To develop academic competitiveness among scheduled tribe students and maximum students can
achieve academic development, what amount of prize is given to the students of scheduled tribe
who stands first in the board examination in class 10 at the district level ?

(B) Rs. 11,000/-

(A) Rs. 15,000/
(D) RS. 91{}00.’"

(C) Rs. 10,000/-
Under Vanbandhu Kalyan Yojana-2, for how many tribal families employment oriented
programmes are planned to start 7
(A) Two lakh
(C) Five lakh

Which of the following scheme'f schemes for tribals is / are assisted by the Central government ?

(B) Three lakh
(D) Ten lakh

2, Shiksha Rule 3. Ecovan
5. Scheme for fishing

1. Nahari center
4. Poultry farm
(A)2,3,4and 5
(O)1,2,4and 5

(B)1,2,3and 4
(D)1,3,4and 5

Which of the following statement/statements is / are correct with reference to woman empowerment

scheme ?
1. The applicant should be an eligible candidate belonging to scheduled tribe.

2. Should be B.P.L. beneficiary.
3. The applicant should be a member of a Milk Producer Co-operative Society.

4. Under the sanctioned scheme the beneficiaries of villages in the cluster area of Panchmahal
Dairy, Baroda Dairy, Banas Dairy, Sabar Dairy and SUMUL Dairy under PTG group as well as

Vansda Vasundhara Dairy have been linked.

(A)1and3
(C)1,2and 3

(B)1,2,3and 4
(D) 1,3 and 4

What is the repayment period of a loan given to an unemployed tribal person under “Personal

credit under self-employment” (Swarojgari hetal Vyaktigat Dhiran) scheme ?
(B) 30 quarterly installments

(A) 60 monthly installments
(D) 20 quarterly installments

(C) 15 quarterly installments
What amount of loan is provided to the eligible candidate of scheduled tribe under Integrated

Dairy Development Project 7
' Rs. 30,000/
Iy, 20,000/-

(B) Rs. 35,000/
(D) Rs, 34,400/-

[PT.0. m
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113. 2522 dla 2ldl (NSTFDC 3% 251240l 12t ASIRA) Aol et Anqal 12 A¥Ad ABUHT ARy
[Radizui ardi 2uRonf Wigd 5301 2 326l 253l Awlls 2uas Haiel 158 s 2uda 8 ?

(A) 3L. 2,00,000/- (B) 31. 1,50,000/-
(C) 31. 1,20,000/- (D) 3L. 1,80,000/-

114, zad AUl adl 2Eald dius Greazin (g ami G2 e M-l diqt- ieidHi Qa1 Q-
WA 5y Qe / [l vilg /vilel © d-l [@seu yaie s30.

1. 24 Al 3 e arall Halemi di viuard Ao 8.
2. U ULl €60 20145 HAUlEL RuHE Al »uadl 4.

3. 2 by (Rl 201 Yol 2 oug 315 4y ugdl dinl 254 56 60 SLmi ®Ws s2all 28 8.
(A) "= 1 (B) 1 %11 3 (C) 1244 2 (D) Hi=A 3

115, A%Ad %1 Ze-geL [recusting ana [z suRoald wReuxd 3 Gedord RRY ugfad e 4

At du1eL 48 UAeRR A dcl Yo GRa Uil 2913 s3] HUAa el S dley-uni ded) ul3euily 21s
o ool A Zrgell 221Ut S20MT BUA €D 7

A) 11 (B) 21 (C) 25 (D)7
116, AxAd 2loald s SulB o sur el sinaui suaa @ ?
(A) a4 1974 (B) a4 1970 (Cyad 1971 (D) ad 1972
17, A%Ad ApUAL 5241 24/ ustd 2R H ald ayzel 9 7
. (A) Ad (B) wixn () ALL (D} &9
118. suui 2uReald [Qadiz U2t dw-t (TASP) Al (a4l WEH 51 ui 2l sl ?
(A) ad 1974 (B) ay 1972 (C)ad 1970 (D) 44 1971

9. A%Ad A5 leald Rsty (oo iz sulesald [zl su adl suRafiqn fedbi s
Wlsa 21 Sordl awenll uda uRall %43 NEET, GUICET %13 JEE %11 §izlot b,
Ul 23 s dd 8 ?

(A) ad 2014-15 (B) a¥ 2015-16 (C) a¥ 2013-14

[y

(D) a4 2012-13
- DA Rl Raewui adA sy R/ Qa2 /i 9 A doa Risey wie 531,

1 23l oAl seaneh il suvat 34l 2% 32512 6121 w1 A sl 1l adl Rsiad
AL A A Tl Al M2 A 5240 M2 GURA U512 G121 MRl AlAHrn wug6e

B %17l Yt Gellol wisRisdl [ 221824 M52 Wleuent wuuar wd GULReL U512+
el A g1l 202122 4 A2 3l2d 68 12 dsyes auorcarl dloge u3

(B) 1244 2
(D) 1 2484 2 Higl 25 yg )

[BGR] [Contd.
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119.

120.

What is the annual income limit for a tribal farmer family living in rural areas in the State of
Gujarat to get the benefit of the Tractor with Trolley (NSTFDC, aided by the Central Government)
scheme ?

(A) Rs. 2,00,000/- (B) Rs. 1,50,000/-
(C) Rs. 1,20,000/- (D) Rs. 1,80,000/-

Which of the following statement(s) is / are false regarding the loan for higher studies abroad to
the eligible candidates of tribals residing in Gujarat State ? Select proper option.

1. Under this scheme, there is a provision of sanctioning loan upto Rs. 10 lakh.
2. Under this scheme, income limit is not taken into consideration.

the completion of the study of the student.

3. Under this scheme, the loan amount has to be repaid in total 60 installments after one year after
(A) Only 1

(B)1and3 (C)land2 (D) Only 3

Nahari Kendra Yojana was started with the main objective that the tribal women of rural areas
in different districts of Gujarat become self sufficient by undertaking various activities of home
industry and selling its products. How many women form a group to establish a Nahari Kendra 2
(A) 11 (B) 21 (C) 25 (D) 7

From which year Gujarat Tribal Development Corporation came into force ?
(A) Year 1974 (B) Year 1970

(C) Year 1971 (D) Year 1972

How many most backward primitive caste communities are there in the State of Gujarat ?
(A) Seven

(B) Five (C) Three (D) Six

In which year the concept of Tribal Area Sub-plan was introduced in the country 2
(A) Year 1974

(B) Year 1972
(C) Year 1970 (D) Year 1971
From which year the Tribal Development Department of Government of Gujarat started free

coaching classes for tribal students in tribal areas for entrance examinations like NEET, GUJCET
and JEE for medical and engineering branches ?

(A) Year 2014-15 (B) Year 2015-16
(C) Year 2013-14 (D) Year 2012-13

Considering the following statements select the option with correct statements.

1. Grants are sanctioned by the Government of India under Article 275(1) of the Constitution of
India to assist in me|

eting the cost of development schemes implemented by the State government
for the purpose of promoting welfare of the Scheduled Tribes.
2. To promote entreprencurshi

p / startup projects for the youth of Scheduled Tribes the ministry

of Tribal affairs Government of India has Iaunched a scheme of ‘*Venture Capital Fund for
Scheduled Tribes’ from the year 2021-22.

(A)Only 1 (B) 1 and 2

(C) Only 2

(D) Neither one of them

[BGR]

rro. EX



121.

122,

123.

124.

s wA G2ad2 Hals Wl dne Aol 2ueu 52l YR gl Rendli w3
2513 e91=nadl-l Mot suL Al sami suda ?
(A) 1956-57 (B) 1961-62 (C) 1960-61 (D) 1955-56

2RI ARBIR G121 A3 sl Aidet Asacn wugdl Rl awnvilui iRl Qenefl»iA su o
suL e Yl Hsd Rarel vuuaimi 0d 8 ?

(A) HixaL 6 4l 12 (B) 4kt 6 4l 10 (©)ulke 14 10 (D) 4ike 1 4l 12

AHRA SRl A HI2 YA ASIR IRL “IY3Ad AHY 19U Al v sun axfui
s 2 8 ?

(A) ¥ 2015 (B) ax{ 2014 (C) ax 2016 (D) a¥{ 2017

gl v 591 Aderdlla 2ulRonf ol (PVTG - 20UB PTG gd) A iluvial w12+t Wugsl {14
QA swe?

1. 2506l yd-5A 22 2. WERdl Q3 2R

3. 2088 wesiaug] 4. u2dl vuq [ azdl

(A) 1,321 4 (B)2,3 14 (C) 1,213 (D)1,2,3 41 4

125.

126.

127.

128,

129.

130.

QU U513 ayf 2023-2441 3(Fu o12ui wid 5304 Ao 2ulzoald ol (PVTG) [ty 25 [Raq-l
82t 58 8. 2 Frat-i 2dlse W2 av 2023-24-1 B2l s2dll 24l s sA0 6 ?

(A) 3L 5000 5213 (B) 31. 15000 5313

(C) 3L 10000 53 (D) 3. 12000 5313
cuartes ofEHdl .......... 610 2l 2w O,

(A) AHRU ¢4 sl Ayer : (B) 18R AidR culEd 2ivil
(C) G2 iy QR sl &l (D) 24+l 2wy

CTTER | BT CATT DR fl gy 8,

(A) #idlsat (B) Rzl Geulrt (O RENET (D) wsuell wzieafl
.......... Al curvaifid eugifRisdt 21 6 3 d 516 dgd Heuis usd 53 9,

(A) Hi=ad1il (B) adel (C) R (Bl (D) wRew

ottt g3l 2uyed fud 8 3 2048l 30U Hee sl ASU, 2L A .......... s3 6.
(A) 4117 a6 ad+ (B) U205 At

(C) wiAl4s ad+ (D)) M et

“liegsuui’e ff sdaiu & 7

(A) dlswd (1) 52y sd

(9“_(,& ) i1 (B) i (D) Gulset WAL 25 oy )
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d Tribe students studying in secondary and highgr

121. In which year government hostels for Schedule

secondary school and colleges were started ? ..
(A) 1956-57 (B) 1961-62 (C) 1960-61 (D) 1955-56 ‘
122. From which standard and upto which standard is free education provided to Tribal Student in ::
- Eklavya Adarsh of Nivasi Schools started by government of Gujarat ? X
‘| (A) Std. 6 to 12 (B) Std. 6 to 10 (C) Std. 1to 10 (D) Std. 1 to 12 ) iu

.‘ 123. In which year ‘Gujarat Samaras Hostel Society’ was established by government of Gujarat to run
|, Samaras Hostel ? a5
| (A) Year 2015 (B) Year 2014 (C) Year 2016 (D) Year 2017 M

124. Which of the following are the criteria for identifying Particularly Vulnerable Tribal Groups |
(PVTG formerly PTG) in the country ? | f

1. Pre-agricultural level of technology 2. Low level of literacy .
3. Economic backwardness 4. Declining or stagnant population
(A)1,3and 4 (B)2,3and 4 (C)1,2and 3 (D)1,2,3 and 4

125. The government of India has announced a mission in Development of Particularly Vulnerable |
Tribal Groups (PVTG) in the Union Budget for the year 2023-24. How much amount has been '
provided in the budget for the year 2023-24 for the implementation of this mission ?

(A) Rs. 5,000 Crore (B) Rs. 15,000 Crore
(C) Rs. 10,000 Crore . (D) Rs. 12,000 Crore -

126. Emotional Intelligence is characterized by : '
(A) Proficient in problem solving. (B) Better interpersonal relationship.
(C) High abstract thinking ability. (D) Good sense of humor

Communication begins with
) encoding (B) idea origination

(D) channel selection

The defining characteristics of is that they express an evaluation of some object. -
(B) attitudes (C) interaction (D) perception
All religions teach us that we should help those who are in need. This behavior is called

(B) social behavior

(D) human behavior
130, called 2
(B) Lok Ayukta

(D) None of the above

[BGR] rro. Bl




131, ARSLANIA AHUALAIR WUH Sl deet 25Ul ¢l ?

(A) MR ' (B) Ras- (C) -ylldrs (D) YruS23 £lasH
132yl ABUDS FARERHL WId dSidd 8 $1R8 5....

(A) cnaulls - (B) tdl s Ad-

(©) sl @t ' (D) Gulsd dHIH
133. gl e izl st s2cul wRoigaL 24 ugfizla dudl wlldlddiA ......... sdai ©.

(A) AR (B) stalHi Alst

(C) cuauu agl- (D) Gulsd dHIM

| 134, ADA-unisll s, Azeuni ARS AHAL AL D ?
1. A5 ARl R
F' 2. 2021 2l [QA36 aews Wy
B 3. HeildaulAs 1512 2 oeflae
4. ugae e adyls Rad dad | 4
5. 5ot Yl v drublu asdi-l day B
A 2udd Qsediuidl Al [Qse vais s,
(A)HI3 1,2,3 (B) WA 3,4,5 © A1, f 5 (D) | 2, 4, 5

135, Aloud. 4 iyl un g o ?
(A) slUl32 515151 YUSis (B) SlUR2 5151254 QR
@) c21U1R HIRRU YAUSis (D) BuRlsd WA A5 umt )

.......... Wt sScui vud 6.
(B) S14€l
(D) Busd WA A5y 4]

DHAIGIA A 1019] wisq] (B) Hden stdsA- udingl
(D) (Al 24 w6{20A 244t Hge 52

(BGR] [Contd.
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132.

133.

134.

135.

136.

137.

138.

Which was the first Commonwealth country to adopt the Ombudsman system?
(B) Sweden

(A) India
(D) United Kingdom

(C) New Zealand
The concept of social responsibility of business is rational because of
(B) New social consciousness

(A) Professional management
(D) All of the above

(C) Legal statutes
Extent to which people are committed to work and involved in their activities is called
(B) work ethics

(A) unethical
(D) All of the above

(C) job description
Which of the following are the sources of ethical problems in organization ?

1. Failure of personal character

2. Organization goals vs social goals

3. Psychological egoism and rationalism

4. Virtue and common good conflict

5. Conflict of personal values and organizational goals.

Choose the correct answer from the options given‘ below.
(B) 3, 4,5 only

(A) 1, 2,3 only
(D) 2, 4, 5 only

(C)1,2,50nly
What is the full form of CPI ?
(B) Corporate Profitability Idea

(A) Corporate Profitability Index
(D) None of the above

(C) Corruption Perception Index
The rules of ethies are also called as a
(B) Law

(A) Rules
(D) None of the above

(C) Responsibility

The ethical skills are :
(A) Care of possessions, modesty, self reliance

(B) Good behavior, good manners, good relationship

(C) Attention, calmness, concentration, self esteem, self confidence
(D) Code of conduct, responsibility, efficiency, perseverance, punctuality

What is Nepotism ?
(A) Undermining the morale of workers
(B) Harassment of women workers

(C) Autocratic decision making
(D) Helping for undue favours to friends and relatives.

[BGR]
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godirtl 2 ...

(A) G2 22+l off dldl A tidiadl

(B) A&0AL Mt 5] Yedel vaa Reet sl o4l 5i65 539
(C) A6 azdls 2 aaL nud 4 eafaad R

(D) elelini AAQ SSuet uaA axel vuug Al

AR Ruus Rl Adl avd 2unidl 54 s AR YailA Aelladl (ualdl) 1ol ?
(A) AR eullerdl i opadtdl w3luiad 3l A4 igdld sl ASA?

(B) Reli died-Nl RaRni 58 wEa 2tu-uadl A5 ?

(©) NRRMus Pef uas uardl au 243 s1erdd 3d Ad wEkba 538 ?
() ARRNUs Rely Al ad-a wolgel- 2uudn dlael 214 yei g o ?

AMRs 20220 dw 12 RuiRa 4 uad-D wdai DA-unidl sal usd a1ae 9 ?

(A) AR d g 541 260 &L ?

(B) g a¥ aiL sunsA 21 o dllviaan sl el ?
(C) sl WAd s ? &
(D) asudl nlalBur g el ?

cuaritens oila A 2y ojfgdl 56 Ad vaad ?
(A) d Sl A4 B,

(B) 4 01l uRaei-l Guailor 5904 Wil asia 8.
(C) drf it cuarilens df, sHdl 2 s ur 8,
(D) 2 1l wsiHl oyl .

3llud AU AR G EUALAL U Yoo 8925 511 6 7
(A) qua;l?t, aRyus, fgtzu, ALt G(A, AL

(B) 2azu(d, Y, us Aett, -, Al

(C) 2a-[iam, ﬁ/m&dt, Uy, 2adi, e i

(D) Gusr Q4L A5 wer 44

Gua-ieds ofa AA-s oiu-u
eld ud 9,

(A) A5 G2 BeH-u-u1r 2Uug

(B) @a-t Wil (MellerR) -l avelzid il 3 uxsd
(C) @an «wdl (euelleiz) wd siuall 1A g ug

(D) Holuuidl % Adv d Aviag

Adlw 208 Asde © 5@ 3 cnadias & e, Al Asda
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Perseverance means

(A) Having or showing intelligence of high level

(B) Doing something despite difliculty or delay in achieving success
(C) The state of showing no real interest or efforts

(D) Not supporting any of the sides involved in argument

Which of these questions does not address ethical issues while making policy decisions ?
(A) How should the necd for seerecy be balanced with public participation ?
(B) What procedures should be adopted in the events of conflict of interest ?
(C) How should the policy decision reflect name and benefits to the ruling government?

(D) What are the norms and values that guide the behavior of the policy decision makers ?

Which of the following questions is not included in the ‘list of six questions’ prescribed for the

investigation of moral conduct ?

(A) What were you doing then ?

(B) Would you like to teach your child the same ?
(C) Who were involved ?

(D) What was your reaction ?

Emotional intelligence is different from other intelligence in which way ?
(A) it is a set of skills.

(B) it can be measured using tests easily.

(C) the focus is on emotional reasoning, ability and knowledge.

(D) it is a new type of intelligence.

What are the five core components according to Daniel Goleman, for E.L?
(A) Self awareness, self regulation, motivation, empathy, successfulness
(B) Self awareness, motivation, successfulness, self control, morality.

(C) Self regulation, morality, love, perseverance, motivation

(D) None of the above
E.L is linked to romantic relationship satisfaction because E.I may be linked to

(A) Giving person higher sell esteem.
(B) Having beiter understanding of the partner's emotion.
(C) Agreeing with partner all the time

(D) Getting what one wants out of the relationship.

—
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153.

ana gy o ?
(A) w1 sl (B) ad+t, Rzl 211 aisllzil-u usR
(©) A5 w1l idRs HWiAls 22l (imaet) (D) W' el s w2+l ol ave

UAUHS AL e .. .o...... 53 asi,
(A) B3l 3ld Aoy (B) Afl5d widdd 2A[MAH
(C) et {ide wuldyay - (D) GuRlsd duin

.......... GIRL G2t (A1) waria dwmg dlow 2 2l asia.
(A) You Rz ' (B) 535 SWUEIIL
(C) a4 ay Ruusidl v gia (D) GuRlsd duin

suL i sRaql e 121 seeR Rare AR 2271 s2ai sud) odl ?
(A) 1988 (B) 1999 (C) 1996 (D) 2011

et A Doyl 2 sud s wudl ol ? '
(A) 2009 (B) 2010 (C) 2013 (D) 2015

MRl s U1 g2l Aidwu o Reng - Fefu Aoras O ?
(A) 2854 262 (B) 2uéls¢ 270 (C) 20854 263 (D) 2>ul54 268

i sz 2ty Rieg g A A= syeud) ﬁlﬂ%am 21852, 2009 @<l A0 W4 &5 ‘cung’ Q) ey
a9 ?

(A) 6 4l 14 -l qu 20l 3 yau suns (B) 8201 18 atill qu 241 3 yam ops
(C) 541 16 Q- aud 0l 5 y2u cung (D) 7415 Qi aug 240l 3 yau oumg

fl e 2ls Reg g 4 23 srucudl Aaydaq 2152, 20000 Ao AFAIR A 418 suns 6 o) ad
S i nda ad walis Riaw 4 ad add dud 43 '

(A) % aoidl el e dau cudl dia d adiui uds siuami 2uq9),

(B) d+ll G2 waudl 214l o B-4 avlui uda 2nami 2uad,

(©) AL W5 ulen @ ol sudl Yo adfui wda siuami suas,

(D) Al Al uflan 243 §-22e A ouns-N atual yoron asfui uda Ay 2ladl,

bz »ils [aegt g A 21 sruead) Asydaq As2, 20090 san 2(n) (i) A4 (iv) 1 AR ol
At ude dlzadll go Qendl wvan W4 2o 2l ... 12541 [Q2eRMid Asou ao] wd g
HHELLL U1 5220U1d A 2uuatl 234 w1 AuA Y3 A oy ey L Rgges 217 s2u1qud il
(a2 2auan 234,

(A) 10% (B) 15% (C) 25% (D) 33%

[BGR] [Contd.



146.

147.

148.

149.

150.

151.

152,

153.

(B) A pattern of behavior, thought and emotion
(C) A sort of internal mental construct (D) Another word to describe ‘the mind’

What is a trait ?
(A) A bad feeling

Emotional intelligence can be studied through

(A) the abilities-focused approach (B) the integritive model approach
(C) the mixed model approach (D) All of the above

Anti-corruption measures are given their rightful place through
(A) value education

(B) strict law

(C) prevalence of more and more regulatory agencies
(D) All of the above

The Prevention of Corruption Act was enacted by Parliament of India in the year
(A) 1988 (B) 1999 (C) 1996 (D) 2011

When was the National Green Tribunal set up ?
(A) 2009 (B) 2010 (C) 2013 (D) 2015

Which Article of Indian Constitution provides for the adjudication of inter-State water disputes?
(A) Article 262 (B) Article 270 (C) Article 263 (D) Article 268

Which of the following definition of ‘Child’ is correct under the Right of Children to Free and
Compulsory Education Act, 2009 ?

(A) Male or Female child of the age of 6 to 14 years.

(B) Male or female child of the age of 8 to 18 years.

(C) Male or female child of the age of 5 to 16 years.
(D) Male or female child of the age of 7 to 15 years.

As per the provisions of the Right of Children to Free and Compulsory Education Act, 2009 where
a child above the age of 6 years of age could not complete his/her elementary education after
admission, he/she

(A) Shall be admitted in the class from which his / her elementary education is due.

(B) Shall be admitted in a class appropriate to his / her age.

(C) Shall be admitted in a class as per the capacity of child after taking his / her oral test.

(D) Shall be admitted in a class as per the capacity of child after taking his / her written examination
as well as oral test.

As per the provisions of the Right of Children to Free and Compulsory Education Act, 2009, a
school specified in Section 2(n)(iii) and (iv), shall admit in ¢lass 1, to the extent of at least

of the strength of that class, children belonging to weaker section and disadvantaged group in the
neighbourhood and provide free and compulsory cducation till its completion,

(A) 10 % (B) 15 % (C)259% (D) 33 %
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 Hlade g Regr g Al 28 saueud] Aeydan 2162, 200940 Aozl vi-012 A NS wou 3 U3y,

P SIEL 60 HAY Al BHEIR bl oA WAL 2l auid 24t gl oiol 59 3R2an 5 :dls1d) )
d oA / al3dd ..., usl,

(A) Al 3R2a 6l e gl 264 P Es  (B) DA SR Al uiz ol 250 AL €2
(©) e 32a Al Aol sy €8 (D) il 3R Sl gl 253 YL £3

- Mlude wils g g Al A srucadl Amydat 352, 200940 AN 2tg2u2 A AS o [ el

L SUEL E80 AU Al $AEIR Gl b5 uAY 24Ul avid 2151 usfRuied yauz aard 29 wl dl
2l o / A - @i ol quid- Geeta vige D2l 14 226l £ adl ?

(A) 30 25,000/- YN (B) 3[Rt 10,000/- Y-l
(C) 30 1,00,000 YA (D) 301 50,000 AL

- Hlude 2ig Reg g A A smuead) woydad w52, 20090 56 2(n)(iv) S50 2uou Brawa-Al oz

UM A4 ‘o FAat AR’ (School Management Committee) Hi A0 vl ..., Aol

SUNSUL HAl-[el i adl2il 289 249 209 2061 .o AU Al 284,
(A) 8 g=lluia (2/3), 60% (B) A% AdaiG (3/4), 50%
(C) s GaxGA (1/5), 25% (D) ¥ gAluG (1/3), 33%

o S [Riats 31 WL 2015 131%, 1l AS2 25 Ruegrt 3 Al 2 srucudl Aosydai A s2, 20091 s 23(1)
ARl Yrtrd cistd dR1adl 4 G dl )l asz 21s Rieg 2 4l 3w sead) Apysaud (AA-sA-2)
52, 2017 AR AD 20l YrAetH QS ... Hi dadl dail 2841,

(A) ol ay (B) 8L ay (R Ay (D) win Y

9 26z »is Riegt g 4 A8 srueudl Awydant 252, 2009 A60 3% A512 AJ2-Uni 2121 Ao
wsaudndl s1Gue’ 2t 528 Fui wals Qe 1 suRsiq A s 3 casia gt Sy

-

dal 55 w2412 dloy Al dedLudy ... dl ay A8 dza a3l wedl a3 w:ude g,
(A) 15 (B) 10 (C) 20 (D)5

- dlude s e g 4 wins suedl Asyiad A2, 2009 ) Aousi YU A SIS wouHi yda

4l wiui e y4hui 10 Randlzid uda suuas 2094 dlu dl A wousi Gudlsd Qe
(25l clat AL,

(A) Wiy (B) 412 (C) 4ut (D) e

4l utz «ls [aegd 2 4 oo smend) wopyburt 36, 201240 Aol AgAR A 51 cuos WA
uiafus ku'-ltl'i{i gc’m fwnfnr{! A %M, Y B QI uHIUA wRRAN, 1886 501 q A o
ARIGHA A cled dl 2uvu uder dqdl Al d-u Q) sl sy ouos-l Gaze YRuat a5 e sl asia
dl

(A) AL 2 4l €l 4 dlallzqnn weoreaql 3514
(B) wiueratdll 2514

(C) SUYLEAL T-HIH=

(D) stosAl Gz 2020 drt di-lian d adil disig g AdUd
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Any school or person,if in contravention of the provisions of the Right of Children to Free and

C?l'l“p“!s“rs' Education Act, 2009 reccives capitation fees such school / person shall be punished
with .
(A) Fine which may extend to ten times the capitation fee charged.
(B) Fine which may extend to five times the capitation fee charged.
(C) Fine which may extend to three times the capitation fee charged

(D) Fine which may extend to twice the capitation fee charged

\\"hi?h.nf the following punishment is awarded to any school or person, if in contravention of the
provisions of the Right of Children to Free and Compulsory Education Act, 2009 such school or
person subjects a child to sereening procedure for the second such contravention ?

(A) Up to Rs. 25,000/- (B) Up to Rs. 10,000/-

(C) Up to Rs. 1,00,000/- (D) Up to Rs. 50,000/

‘School Management Committee’ constituted in a school other than a school specified in Section
2(n)(iv) of the Right of Children to Free and Compulsory Education Act, 2009 shall consist of at

least of members of such committee shall be parents/ guardians and of members
of such committee shall be women.

(A) Two thirds (2/3), 60% (B) Three Fourth (3/4), 50%

(C) One Fifth (1/5), 25% (D) One Third (1/3), 33%

Any teacher not possessing minimum qualification as per Section 23(1) of the Right of Children
to Free and Compulsory Education Act, 2009 as on 31st March, 2015, he/she has to acquire

such minimum qualification within a period of as per Right of Children to Free and
Compulsory Education (amendment) Act, 2017.
(A) Two vears (B) Three years (C) Four years (D) Five years

Under the provisions of the Right of Children to Free and Compulsory Education Act, 2009, the
Central Government shall, by notification constitute ‘National Advisory Council’ consisting of
such number of Members, not exceeding as the Central Government deem necessary,
to be appointed from amongst persons having knowledge and practical experience in the field of
clementary education and child development.

(A) 15 (B) 10 (€)20 (D)5

If in anvy school from first class to fifth class total 110 students are admitted, then such school must
- teachers in above classes as per the provisions of the Right of Children to Free and

have
Compulsory Education Act, 2009.
(A) Five (B) Four (C) Three (D) Ten

As per the provisions of the Right of Children to Free and Compulsory Education Rules, 2012,
while taking admission at Elementary School, if birth certificate of child under the Births, Deaths
and Marriages Certification Act, 1886 is not available, which of the following documents shall not
be accepted as the proof of age of the child for the purpose of admission in schools ?

(A) Register record of Hospital where the child is born
(B) Anganwadi record

(C) Horoscope of child
(D) Declaration through an affidavit of the age of child by the parent or guardian.
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164.
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166.

fl A2 25 BPegr g 4 2wt sruead] vryiadt 3, 2012 AUGAR WA adlaz AH(A gt uon Rsiy
Wi (School Development Plan) ..o, AHUUGU W2 AUIR ST 2uasl.

(A) i ax- (B) ARl avl+iL

(C) & QL (D) 5 QL

Qo wandl Aoydad As2, 1947 dsn e ol weurdl eslldl sUBAAL U2 Yeelluj
Wdl 24 GREAR g1 3 el sal W2 cs vird A8 albd g1t ua Gedl sami 2idd dlu dl
2udl i 2 el uRoun ond AAA .oveeen SUR UL e, . uaL uarl [RRus2e w2 2129
s3 us.

(A) 15 Raxni, 3 e 4zel ada dlu / adl ASd ¢d), d [Bearu ldlse %% 214

(B) 30 Raxmi, 3 weani Yzl ada dlu /adl AS ¢d), d Precurt Aa-u %% da

(C) 60 Raui, ® @ecnni dzell ade diu / adl AS ¢dl, d et sd522 aua

(D) 90 Baxsi, 2 e A2ell 23 ia / adl A sd), d @ec-u vu f2sll 859 a1z

4l aor1d Wl Assydaq As2, 1947 850 35220 avidiavid siudl asi-d izl Faw 2ga el
2215+ olad), ttedl AH % saH 20 2l Renaai Addl 2215 A0 dHH UsRHL Rizd 2044 yaial
(sl g2 s udld) Qarll AL 514 9 ?

(A) Aryaq S=us22 (B) el vy 5a- 2AllEuR
(C) suafs vwysaud (Zeyna (D) adladl @5

) 9921 WuH) Bosydait 2152, 1947 vt-ad 516 vl uafis ol Hi-adl Hoad w2 sau 40A(4)
Q50 sl 2Udd 222 HUe ol 31u3522 5 iAsd AAHAA 21 2129 U dwi 531, 2122 qoddl S2a
HUYIUOUM] HLUAL UYL 5 A 2A0ua 2i001L el dal 289 7
(A) 15 [Bazui (B) 1 1l
(C) 3 Wl - (D) 6 1AMl

d) 3yora1d Wl Vogydat w12, 1947 3601 o4 516w vl afs ot adlaz sdl 247 A o
(ers a2l sl 2zl woillid 516 dsu= lu dl adlazsal 5 2udl Bias (64 W S wgl) 0 dse
woid] [Hefu iz .......... AH4 2199 53] usdl.

(A) [zoy4 (B) @ea [Raa 2=

(C) 21%Y 42512 (D) adladl 2185

4l 7 wandl 2t w5z, 1947 vt-ad @de ol vilg Wundl AsYBAAHL 58 oo uedl
W2 u4.......... el eall won elld gz [Rud sul yogor wal,

(A) 24,12 (B) 16,8 () 15,9 (D) 20, 10
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The School Development Plan prepared by the School Management Committee under the

provisions of the Right to Free and Compulsory Education Rules, 2012 shall be of
duration.

(A) Five years (B) Three years
(C) Two years (D) One year

If the validity of the election of a member of a school board is brought in question by an unsuccessful
candidate or by any person qualified to vote at the election, such person may, at any time

from the date of the declaration of result of the clection apply to for the determination of
such question.

(A) 15 days, the District Judge of the district within which the election has been or should have
been held

(B) 30 days, the Sessions Judge of the District within which the election has been or should have
been held

(C) 60 days, the Collector of the District within which the election has been or should have been
held

(D) 90 days, the Special Election Officer of the District within which.the election has been or
should have been held

Who shall have power under the Primary Education Act, 1947, subject to such general instructions,
as may be issued from time to time by the Director, to promote, transfer and take all disciplinary
action (including removal or dismissal) against the staff maintained under Section 20 of the Act ?

(A) Education Inspector (B) District Education Officer

(C) Primary Education Tribunal (D) Administrative Officer

Within how much time on receipt of the application made for obtaining recognition of any Private
Primary School, the Director or any authorised person shall under Section 40A(4) of the Primary
Education Act, 1947 decide about granting or refusal of recognition after making inquiry ?

(A) 15 days (B) 1 Month

(C) 3 Months (D) 6 Months

Under the provisions of the Gujarat Primary Education Act, 1947, where there is any dispute
between the manager of a recognized private primary school and teacher in service of such school
which is connected with the conditions of service of such teacher, the manager or as the case may
be, the teacher may make an application tothe

(A) Tribunal (B) District Education Ofticer

(C) State Government (D) Administrative Officer

Under the Gujarat Primary Education Act, 1947, there shall be Board of Primary Education
consisting of members, of whom shall be elected by the school board in the

manner prescribed.
(A) 24,12 (B) 16, 8 (©) 15,9 (D) 20, 10
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A enfa aptiedl 2l eundlA e il ARRH, 2012 860 % SIS b 516 b{mi W 3l
dus adly \@,HC-{'I (Aggravated Penctrative Scxual Assault) 53 A DA U 26l won ugl !

(A) et el A9 AR AL Ale ad YA AS uw usi-Al 36 2 €4l um

(B) £t (el 2 AR A Alg ad AL vt 3¢ 2 €3+l um

(€) £ el 2168 AR Adl 2u2art 3¢ YA 2avid Sedl won w1 €3l un

(D) At el A1) AR Al 21Dt 3e YA vt e+l 247 €370l 2 2290 eid €5+ um

sunSiA aldu il 03 281 vl AARRUY, 2012 Yool B 516 2lzd cunsHl oadla Adimell 3 44
A U4 32efl 2o udl ?

(A) 3 YOl o A wsi-l Be-l uon 24 €8
(B) 3 ad YHUH it e+l Ao A €3 iaal vid
(€) 5 2 YA 2 A usi-l el uon 24 €2
(D) 5 L YN qvid 36N uon A €3 maa vid

s At uall Wl 2wE 2uud A/AUN, 2012 Yo A AS Al gl A sl
GualoL ollet g W2 s2auHi 2019 ol Ul a3 Al uan i o s oedt AL U4l ynu 324l
waud?

(A) rtetH 3 a Yl 30l o 2 €4

(B) yrtrtnt 5 el el 3Dl uom 49 €3

(C) Yt 7 el YAl 36Dl 2o A €2

(D) Yttt 10 ad Y- Sl 2o 04 €3

S Ald Al A 289 2 wRREY, 20124 Aot AUPAR 1S sunsf Mdeq Adl aua
Wl 2043 i day dlou susidiug Q3 U4 565 oustarl 1A adl 48] ?

(A) st AS Wt A 2020 208 1S A adl ASA,

(B) A5 [den Al auid Wl 20 B3z 3 YRSIHAL A L RS,

(© st (dent Adl avd Wela B3 A iR 3 adid HYSURL $1992 v RS,

(D) U] (185 -t Bz 3 opai Q ey 93 224, sl et 3 A0 waigolly 2 SEEITEN

wZlu [usm AU, 2020 wead qugy [QeneflzAly '

7 AR A, 2020 sl e Rendlid .., YN YA R 24 3 d
A wallis walisay suyqug 24 6, b S s
(A) Hlzp i

) Hlze 2 (B) 4w 3 (C) QgL 4 (D) Wi 5
wilu lame U4, 2020 Bl
.......... dl A9l Ad) gz
dlad [aendlil 9, 4 444
Al 211891 clu ddl ez 55
(A)30:01,25:01

(B) 35 ; $
(C)45: 01,40 : 01 Felpaoble

éll zaa fl.tﬂlmlh[?{ﬂl?ﬂ-ﬁl&w AR (Pupil-Teacher Ratio — Qo)

iia*ali;::{kiiltdjl:Tl[ﬂH% QCE: i3 Hilaig A 2eulys-wuffs 44
l'almﬁ:’?[ﬂ ) Tonchar Dot

Al vuqgl, AR (Pupil-Teacher Ratio — Qdl2112)

----------

() 40: 01,35; 0
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Which of the following punishment shall be awarded to a person who commits Aggravated

Penetrative Sexual Assault on any child as per the provisions of the Protection of Children from
Sexual Offences Act, 2012 ?

(A) imprisonment of cither description which may extend up to seven years and fine

(B) rigorous imprisonment which shall not be less than ten years, but may extend to fourteen years
and fine

(C) rigorous imprisonment which shall not be less than ten years, but may extend to imprisonment
for life and finc,

(D) rigorous imprisonment which shall not be less than twenty years, but which may extend to
imprisonment for life and finc or with death sentence

Which of the following punishment shall be given under the Protection of Children from Sexual
Offences Act, 2012 to a person who commits sexual harassment upon a child ?

(A) Imprisonment of either description which may extend to 3 years and fine
(B) Rigorous imprisonment up to 3 years or fine or both
(C) Imprisonment of either description which may extend to 5 years and fine
(D) Rigorous imprisonment up to 5 years or fine or both

Which of the following minimum punishment shall be given under as per the provisions of
the Protection of Children from Sexual Offences Act, 2012 to any person who uses a child for
pornographic purposes for his first such act ?

(A) Minimum 3 years’ imprisonment and Fine
(B) Minimum 5 years’ imprisonment and Fine
(C) Minimum 7 years’ imprisonment and Fine
(D) Minimum 10 years’ imprisonment and Fine

Which of the following is not included in the matters required to be considered by a police officer
before taking statement of any child under the provisions of the Protection of Children from
Sexual Offences Act, 2012 ?

(A) At no point of time the child should come in contact in any way with the accused.

(B) While recording statement of a child, the police officer shall not be in uniform.

(C) While recording statement of a child, police officer must keep his parents or guardian present

(D) The Statement of the child shall be recorded at the residence of the child or at a place where
he usually resides or at the place of his choice.

Under the National Education Policy, 2020, the highest priority is given to achieving Foundational
Literacy and Numeracy by all students by

(A) Grade (standard) 2 (B) Grade (standard) 3

(C) Grade (standard) 4 (D) Grade (standard) §

Under the National Education Policy, 2020, a pupil-teacher ratio (PTR) of under _____ will be
ensured at the level of cach school; areas having large numbers of socio-economically disadvantaged

students will aim for a pupil-teacher ratio (I"'I'R) under 4
(A)30: 01,25 : 01 (18) 35: 01,30 : 01
(C)45: 01,40 : 01 (D) 40: 01,35 : 01
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208t Qe AR, 2020 2ol 6 uauileu ‘af soisar 2052’ g2 s2a M2 i el 46 ua

o dla Ay eRUA v ol ulan 20l sl
(A) AR avid (B) 5 % avd
(C) AR Auid (D) 61 avid

adly R AR, 2020 360 a1 wfRana 2103 weausHla wave Agau Qendl 11 4 14 @
ERRUA cruvrannee Hi awuflu Rieadl e 524,

(A) HReL 5 7 (uls) (B) Hlzet 4 o) 8 (ulées walis)

(©) {2 60 8 (G muls) (D) {12t 4 4l 6 (yel alis)
. adla R AR, 2020 iddld ayl ... M i G2 Riaa ezl siglaenauvuila Azl
- tialg @ad el

(A) 2035 (B) 2040 (C) 2030 (D) 2025

176.

177.

178.

AR Ald 3 2qYR gl w0y 4 Siu ddl S albd, AgyRd Al 3 2143Rd gl
Uit 4R A3 Guailomi Adidt Hsirl SAEyds 20101 5 25125 ugieldll sous (Pralls )i s giat

2 52 dl d 2gRA 2Ald 217 209% R R Rreuak Rare) AERuH, 1989 2i<d DA U4
58 AN YA ?

(A) yridu 69 Wi Yl 3e udg aw arfell ag - dla ddl 3e- ua 214 €3
(B) ~4rtd & i Yl Se ug Aatd aell ay - gl dd) 3 uon 21 €3
(C) 2ua el an w4 €3

(D) =4ty At A Yl 3€ udg HenH 2uzmad 3 Y-l uon 21 €3

AR Al 3 2gRd woal-l weu 4 du Adl S 0l Aas, 2qyfid Nl A AR

Foald (e Rare) 28R, 1989 3 21 sl 360 sruda Rasil Yo Ul 529 ol
SALtyds As112 £1md dl AR DA W4 56 uon 1) ?

(A) Yrtdn &9 Wt YUl udg 28 adell ay - Glu Al 3e-l 2o
(B) Yrtdu & i Y-l uig ae afell ay - dlu adl 3e-)l um
(C) a2 i Y-l uig oL audl ay - dlu Ad) e wen
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178,

Under the National Education Policy, 2020, in order to eliminate ‘high stakes’ aspect of Board
exams, all students will be allowed to take Board Exams on up to during any given

school year.
(A) Three occasions
(C) Four occasions (D) Two occasions

(B) Only one occasion

As per new pedagogical and curricular restructuring structure of the National Education Policy,
2020, student during the ages of 11 to 14 years will study school education of

(A) Class 5 to 7 (Foundation) (B) Class 4 to 8 (Pre-Foundation)

(C) Class 6 to 8 (Middle) (D) Class 4 to 6 (Preparatory)

Under the the National Education Policy, 2020, by year , all higher education institutions

(HEISs) shall aim to become multidisciplinary institutions.
(A) 2035 (B) 2040
(C) 2030 (D) 2025

As per the provisions of the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act,
1989, any person, not being a member of a Scheduled Caste or a Scheduled Tribe, commits mischief
by fire or any explosive substance intending to cause destruction of any building ordinarily used
as a place or worship by a member of a Scheduled Caste or Scheduled Tribe shall be given which

of the following punishment ?
(A) Imprisonment for a term not less than 6 months, which may extend to 3 years and fine.

(B) Imprisonment for a term not less than 6 months, which may extend to 7 years and fine
(C) Life Imprisonment and fine.
(D) Imprisonment for a term not less than 7 years, which may extend to Life Imprisonment

and fine.

Whoever, being a public servant but not being a member of a Scheduled Caste or a Scheduled
Tribe, wilfully neglects his duties required to be performed by him under the Scheduled Castes
and Scheduled Tribes (Prevention of Atrocities) Act, 1989 or the rules made thereunder, shall be
liable to undergo which of the following punishment ?

(A) Imprisonment for a term not less than 6 months, which may extend to 1 year.

(B) Imprisonment for a term not less than 6 months, which may extend to 3 years,

(C) Imprisonment for a term not less than 3 months, which may extend to 2 years.

(D) Imprisonment for a term not less than [ year, which may extend to 5 years.

Under the provisions of the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act,
1989, if it is proved that the accused having personal knowledge of the victim or his family, the

court , that the accused was aware of the caste or tribal identity of the victim, unless the

contrary is proved,
(B) shall presume

(D) shall not presume

(A) may presume
(C) may not presume

[BGR] [PT.O. m
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RRUN 360 3l 5212 200 eelul DA WA 53 Rt A O ?

(A) @l 302 B 2380 A7 pouR WRdla ARMH, 19581 AdtuS il ciyy usdl.
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(C) ABL 8522 ; (D) & €522
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184.

181.

Under the provisions of the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act,
1989, against an order of the Special Court or the Exclusive Special Court granting or
refusing bail.

(A) a Miscellaneous Application shall lic to the Sessions Court,

(B) a Reference Application can be filed before the Sessions Court,

(C) a Revision Application can be filed before the High Court.

(D) an Appeal shall lie before the High Court.

Which of the following statement is true with respect to the person found guilty of having committed
offence punishable under the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities)

Act, 1989 ?

(A) The provisions of the Probation of Offenders Act, 1958 shall apply to the person found guilty.

(B) The provisions of the Probation of Offenders Act, 1958 shall not apply to person who is above
the age of 18 years and found guilty.

(C) The Court will make final order whether to apply the provisions of the Probation of Offenders
Act, 1958 upon the person who is found guilty. .

(D) The provisions of the Probation of Offenders Act, 1958 shall apply to person who is first
offender and below the age of 21 years.

When the trial relates to an offence under the Scheduled Castes and Scheduled Tribes (Prevention

of Atrocities) Act, 1989, as far as possible, be completed within a period of from the date
of filing of the charge sheet,

(A) One Month (B) Six Months

(C) Two Months (D) Three Months

Under the provisions of the Scheduled Tribes and other Traditional Forest Dwellers (Recognition
of Forest Rights) Act, 2006, the persons entitled under the category of individual rights as claimants
for residence and cultivation shall be given ownership rights of land not exceeding

(A) Four Hectare (B) One Hectare

(C) Three Hectare (D) Two Hectare

Within how much time the investigating officer appointed under Rule 7(1) of the Scheduled Castes
and the Scheduled Tribes (Prevention of Atrocities) Rules, 1995 shall complete the investigation
of an offence committed under the Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Act, 1989 ?

(A) 30 days (B) 15 days (C) 60 days (D) 45 days

In order to obtain recognition as a beneficiary of the rights given under the provisions of the
Scheduled Tribes and other Traditional Forest Dwellers (Recognition of Forest Rights) Act, 2006 a
person must belong to Scheduled Tribes or Traditional Forest Dweller and he must have occupied
the forest land before

(A) 13 December 2004 (B) 13 December 2006

(C) 13 December 2005 (D) 13 December 2003

[BGR] [PT.O.
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(B) ~4rtet 19 iz YL udg A arfell ay - dlu Adl el uon 2 3. 1000 AL 201691 (R 14 3. 5000 )
ay (8 dedl €3
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(A) GUlsd 9unilAl gue Aa- 512 une o wadl,
(B) GUlsd duofi-l ziue Wl 512 ane o aadl,
(C) Buzlsd Yl gud sy fllaug Aeede) Aglke Awede aus o wadl,

(D) Gulsr Attt gract e1d sl ol sioflzdl yoro Au 12, WRua 918 3 sy fllua 122/
HzullAz 170252 aqaal W2 wsu 54,
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Which of the following punishment may be awarded to the owner of any hotel under the provisions
of the Protection of Civil Rights Act, 1955, if he refuses anyone the entry to his hotel on the ground
of ‘untouchability® ?

(A) Imprisonment for a term not less than one year and not more than three years and also with
fine which shall be not less than Rs. 5000 and not more than Rs. 10,000.

(B) Imprisonment for a term not less than six months and not more than two years and also with
fine which shall be not less than Rs. 1000 and not more than Rs. 5000.

(C) Imprisonment for a term not less than three months and not more than one year and also with
fine which shall be not less than Rs. 500 and not more than Rs. 1000

(D) Imprisonment for a term not less than one month and not more than six months and also with
fine which shall be not less than Rs. 100 and not more than Rs. 500.

In the event of exercising any right accruing to any person by reason of abolition of “untouchability”
under Article 17 of the Constitution, which of the following act done by other person does not fall
within the scope of “boycott” under the provisions of the Protection of Civil Rights Act, 1955 ?

(A) Refusal to give a house on rent

(B) Refusal to work for hire )

(C) Refusal to give any grocery from any shop at the cheaper rate
(D) Refusal to give work as agricultural labourer

Which of the following punishment is awarded to a person if he is convicted under the provisions
of the Protection of Civil Rights Act, 1955 for third offence or any offence subsequent to the
third offence ?

(A) Imprisonment for a term not less than one year and not more than two years and also with fine
which shall be not less than Rs. 500 and not more than Rs. 1000

(B) Imprisonment for a term not less than two years and not more than three years and also with
fine which shall be not less than Rs. 1000 and not more than Rs. 3000

(C) Imprisonment for a term not less than one year and not more than three yvears and also with
fine which shall be not less than Rs. 3000 and not more than Rs. 5000

(D) Imprisonment for a term not less than three years and not more than five years and also with
fine which shall be not less than Rs. 5000 and not more than Rs. 10,000

Which of the following sentence is truc in the eventofall the offences under the Protection of Civil

Rights Act, 1955 where the punishment is imprisonment for a minimum term exceeding three

months ?

(A) Trial of above offences shall be conducted only by the Sessions Court.

(B) Trial of above offences shall be conducted only by the Special Court.

(C) Trial of above offences shall be conducted only by the Judicial Magistrate / Metropolitan
Magistrate.

(D) High Court will order the above offences to be tried cither by the Sessions Court, Special
Court or Judicial Magistrate / Metropolitan Magistrate depending upon the gravity of the

offences.
[BGR] rro. Y
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Af“é ‘P"_’l":;’_“ :ggfic"ed by the imposition of a collective fine under Section 10A(1) of the Protection
of Civil Rights Act may prefer appeal within a period of days before from the

;1;;? of publication of Notification under the provisions of the Protection of Civil Rights Rules,

(A) 30, Sessions Counrt

(B) 30, State Government or the authority specified by it
(C) 60, Special Court
(D) 90, High Court

Any person ag;",r.im’c[l by the resolution of the Gram Sabha relating to individual Forest Rights
under the p'l ovisions of the Scheduled Tribes and other Traditional Forest Dwellers (Recognition
of Forest Rights) Act, 2006 may prefer petition before within a period of days
from the date of passing of resolution. '

(A) 60 days, State Level Monitoring Committee

(B) 30 days, State Government

(C) 30 days, District Collector

(D) 60 days, Sub-Divisional Level Committee

Which of the following sentence is correct in the event of any act constituting an offence under
the provisions of the Protection of Civil Rights Act, 1955 committed in relation to a member of a

Scheduled Caste?

(A) The Court shall presume, unless the contrary is proved, that such act was committed on the
ground of “untouchability”.

(B) The Court shall presume, unless the contrary is proved, that such act was not committed on
the ground of “untouchability”.

(C) The Court may presume, unless the contrary is proved, that such act was committed on the
ground of “untouchability”.

(D) The Court shall not presume that such act was committed on the ground of “untouchability™

without being proved by the victim.

Which of the following sentence is true as per the provisions of the Protection of Civil Rights

Act, 1955, when any public servant is alleged to have committed the offence of abetment of an

offence punishable under this Act, while acting in the discharge of his official duty of the State

Government ?

(A) Such public servant will be prosc
formalities.

(B) No court shall take cognizance

of the State Government,
(C) Court shall take cognizance of such offence without previous sanction of the State Government

for having committed the offence of abetment of an offence punishable under this Act.

(D) No court shall take cognizance
of a High Court of the State.

cuted under the Criminal Procedure Code without doing any

of such offence of abetment except with the previous sanction

of such offence of abetment except with the previous sanction

[BGR)] [PT.O. H
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197, wtpelad vald 21 sl [ i s Q4 e 1l 1960-61 i il wgaEd

[azis .......... Az HISAUT Saddl el

198, glad greald A wylad [eas visin s At oo oo A ARSI Uil 53 5
% [zt [aaedl (o) caladll azdl ., 4l ay dla A Beard 4R Rz adld adz 54l
A,
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198.

Which of the following sentence is t i
s true with reference to the offences i
Protection of Civil Rights Act, 1955 ? o punishable under (he

(A) The provisions of the Probation of Offenders Act, 1958 shall not apply to any of the offences
punishable under this Act. ’ |

(B) The provisions of the Probation of Offenders Act, 1958 shall apply to the offences punishable
under this Act only if the offender is below the age of 18 years.

(C) The provisions of the Probation of Offenders Act, 1958 shall apply to any person who is below
the age of 14 years and is found guilty of having committed any offence punishable under this
Act.

(D) The provisions of the Probation of Offenders Act, 1958 shall apply to any person who is
below the age of 16 years and is found guilty of having committed any offence punishable
under this Act.

Under the Protection of Civil Rights Act, 1955, the term *civil rights’ means

(A) *civil rights® as defined under the Universal Declaration of Human Rights, 1948.

(B) As per the definition of *Human Rights’ given under Section 2(1)(d) of the Protection of Human
Rights Act.

(C) All fundamental rights enshrined under Chapter 111 of the Constitution of India.

(D) Any right accruing to a person by reason of abolition of “untouchability” by Article 17 of the

Constitution.

Under the Protection of Civil Rights Act, 1955, ‘Scheduled Caste’ has meaning assigned to it in
of the Constitution of India.
(A) Article 366 (24) (B) Article 265 (17) (C) Article 195 (10) (D) Article 311 (2)

In the circumstances of arrest of any person accused to have committed offence under the

Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act, 1989,

(A) The provisions of Section 438 of the Code of Criminal Procedure, 1973 shall apply.

(B) The provisions of Section 438 of the Code of Criminal Procedure, 1973 will be made applicable
as per the discretion of High Court of the concerned State.

(C) The provisions of Section 438 of the Code of Criminal Procedure, 1973 will be made applicable

if the accused so desires.
(D) No provisions of Section 438 of the Code of Criminal Procedure, 1973 shall be made applicable.
As per the report of Scheduled Area and Scheduled Tribes Commission in the year 1960-61, the
Scheduled Area of Gujarat was spread in sq. miles. ,
(A) 5000 (B) 7000 (C) 10,000 (D) 12,000

As per the report of Scheduled Area and Scheduled Tribes Commission, the government of Gujarat

made a proposal stating that the areas in which the population of tribal community is more than
» such area should be declared as Tribal Arca.

(A)25 % (B) 50 % (C) 40 % (D) 60 %
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Which of the following function will be done by the Scrutiny Committee constituted under the

Gujarat Scheduled Castes, Scheduled Tribes and other Backward Classes (Regulation of issuance
and Verification of Caste Cerfificates) Act, 2018 ?

(A) To issue the Caste Certificate to the persons helonging to Scheduled Tribes.
(B) To make verification of the Caste Certificate to the persons belonging to Scheduled Tribes

(C) If the Competent authority has issued Caste Certificate to wrong person, to impose appropriate
punishment to Competent authority.

(D) If any ineligible person wrongfully has obtained Caste Certificate by misrepresentation before
the Competent Authority, then to impose appropriate punishment to such person.

Which of the following option available to a person aggrieved by the order of the Scrutiny
Committee to forfeit and cancel the wrongly issued / obtained the Certificate of Scheduled Tribe
under the Gujarat Scheduled Castes, Scheduled Tribes and other Backward Classes (Regulation
of issuance and Verification of Caste Certificates) Act, 2018 ?

(A) The order can be challenged by appeal before the State Government.

(B) The order can be challenged by revision before the Gujarat State Scheduled Caste and
Scheduled Tribes Commission.

(C) The order can be challenged by way of filing suit before the competent Civil Court under the
Code of Civil Procedure 1908.

(D) The order can be challenged before High Court of_Statc under Article 226 of the Constitution
of India.

Who is empowered for imposition and realization of collective fine under SC and ST (Prevention
of Atrocities) Act 1989 ? .

(A) District Magistrate (B) State Government

(C) Special Court (D) High Court

Who appoints the Chairman of National Commission for Scheduled Caste ?

(A) President (B) Lok Sabha Speaker

(C) Prime Minister (D) None of the above

Offence committed by any public servant under Section 3 of the SC and ST Act, 1989, provides for
imprisonment of minimum punishment of
(A) three months jail (B) six months jail

(C) one year jail (D) None of the above

The Scheduled Caste Commission is defined in which Article of the Constitution ?

(A) Article 338 (B) Article 342
(C) Article 338A (1) Article 340

Which of the following Articles of the Constitution mentions speeial provisions for SCs, STs, the
backward classes and the Anglo Indians ?
(A) Article 330 1o 342A (13) Article 344 to I52A

(C) Article 350 10 352A (D) Article 360 to 362A
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215,
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(A) vyl Rz (B) 21524 ~uefel
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(A) 4ud-s (B) H30U144 U2 (©) Bl (D) Ay
7340 sitizelly YHIRL €131 SUL 21208 WU biriaaH] vl ?

(A) A1 %IE 47 (B) A4 2I¢ 45 (C) Ag23¢ 40 (D) HFAE 46
195941 Jatydl 211l w3vtid v, dl ug,

(A) (lwid, HuUZe ' (B) 12113, AW

(C) 121Y2, Hel (D)) W41, 33U

Auniell s, dad) 219 cazan dg wrami 203 6 7

(A) aalen wyls () il [Asiu
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Article 17 of the Indian Constitution is related with

(A) abolition of untouchability (B) abolition of titles
(C) equality before law (D) right to education
National Panchayati Raj Day is celebrated on every year.
(A) 26th January (B) 15th August

(C) 24th April (D) 2nd October

To whom the grant in aid for Panchayati Raj institutions received from the Finance Commission
has to be released ?

(A) District Panchayat (B) Panchayat Samiti
(C) Collector (D) Gram Panchayat

Objectives of Panchayat (Extension to the Scheduled Areas) Act, 1996 are :

(A) to provide self rule for the tribal |

(B) To safeguard and preserve the traditions and customs of tribal communities.
(C) To empower panchayats to tribal requirement

(D) All of the above

Under which Article of the Constitution of India, an area can be declared a ‘Scheduled Area’?
(A) Article 342 (B) Article 244 (1)
(C) Article 242 (D) All of the above

Which of the following tribal groups mainly inhabits in central part of India ?
(A) Chenchus . (B) Mundas
(C) Gonds (D) Santhals

In which of the following States, the provision of reservation for SC in Panchayat under 73rd
Constitutional Amendment not applicable ?

(A) Nagaland - ) (B) Arunachal Pradesh
(C) Mizoram (D) Meghalaya

Which Article was given effect to by the 73rd Amendment ?
(A) Article 47 (B) Article 45
(C) Article 40 (D) Article 46

Panchayati Raj System began in 1959 at
(A) Bhopal - MP (B) Nagaur - Rajasthan
(C) Nagpur — Maharashtra (D) Kheda - Gujarat

Which of the following is considered to be the aim of panchayati Raj System ?
(A) Rural prosperity (B) Rural development
(C) Political development (D) All of the above
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Whiteh it vidis adde ;o g e i
hich part wasadded to give constitutional vecognition to municipalities under 74th Constitutional
Amendment ?

i Ty i | J— .
(A) Part 9A (1) Part 10 (C) Part 7 (D) Part 14

“'Illit‘h nfthf* following ministries of Government of India is the nodal ministry for Garib Kalyan
Rojgar Abhivaan launched in June, 2020 7

(A) The Ministry of Rural Development

(B) The Ministry of Jal Shakti

(C) The Ministry of Labour and Employment
(D) Nonc of the above

Which of the following statement(s) is/are correct about ‘scheduled area and the welfare of
scheduled tribe'? :

1. It is mentioned in Article 339 of the Constitution

2. Article 339(2) provides executive power to the Union that extend to give direction to States.
(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None

In 1960, the President of India appointed the Scheduled Areas and Scheduled Tribes Commission.
Who was the Chairman of the Commission ?

(A) M. C. Setalvad (B) U. N. Dhebar
(C) Krishna Menon (D) K. Santhanam

In 2002, the President of India appointed the Scheduled Areas and Séheduled Tribes Commission.
Who was the Chairman of this Commission 7

(A) Dr. P. K. Patel (B) Smt. Chokila Iyer

(C) Shri Dileep Singh Bhuria (D) Shri Kunwarsingh Fulji Valvi
Which committee was appointed in 1986 for Panchayati Raj ?

(A) L. M. Singhvi Committee (B) Ashok Mehta Committee

(C) G. V. K. Rao Committee (D) None of the above

When was the first Finance Com mission constituted 7
(A) 1950 (B) 1952 (C) 1953 (D) 1954

The State Finance Commission is 2
(B) Non-statutory body

(D) None of the above

(A) Legal body
(C) Constitutional body

The commission on Centre-State relations of 2010 was headed by :

(A) Shri Justice Madan Mohan Punchi
(B) Shri N, R. Madhava Menon

(C) Shri Vinod Duggal

(D)) None of the above
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225. Which of the following committee is not concerned with Panchayali Raj ?
(A) Balwant Rai Mchta Committee
(B) Santhanam Committee
(C) Ashok Mehta Committee
(D) G. V. K. Rao Committee
226.

Which one of the following distinguishes public from private administration.
(A) Public Accountability

(C) Profit

(BB) Public Finance

(D) Planning

227. The main feature of British Administration in India was
(A) Centralized bureaucratic administration,
(B) Gradual suppression of customs by law in the management of Public Affairs.
(C) Growth of constitutionalism.

(D) Territorial adjustment of administrative units.

228. Which one of the following is not the function of the District Collector.

(A) Land Revenue (B) Maintenance of Law and Order

(C) District development functions . (D) To decide on policy matters -

229. Which of the following is not a function of Gram Sabha ?

(A) Rural Health (B) Water Planning
(C) Tribal Welfare (D) Census

230. 73rd Constitutional Amendment relates to
(A) Impeachment of the President
(B) Appointment of Election Commissioner
(C) Reservation of seats in Educational Institutions
(D) Panchayati Raj System

231. Panchayati Raj System in India is laid down under
(A) Fundamental rights (B) Fundamental duties
(C) Directive Principles of State policy (D) All of the above

232. In medieval India, why was Mansabdari System introduced ?

(A) For revenue collection (B) Facilitating recruitment to the Army
(C) To establish religious harmony (D) Ensuring clear administration
233. With reference to Mughal period's revenue collection system *Zabti’ means :
(A) Estimated revenue (BB) Yield per unit area
(C) Based on yield of crops (1) 1/3rd of total yield.
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What is Jagirdari System ?
(A) System for inheriting property (B) Tax assignment

(C) Religious assignment (D) Land revenue assignment

The weakness of Kautilya's work is because it is
(A) Based on Greek philosophy (B) It is not empirical

(C) Relies more on scriptures (D) None of the above

In which year P.C. Hota Committee on civil service reforms was constituted ?

(A) 2003 (B) 2004

(C) 2005 (D) 2006

Which impact was exerted on status of women due to reform movements ?

(A) Widow remarriages were started (B) Child marriages were reduced.
(C) Satipratha was eliminated (D) All of the above

Which of the following is not a major matter arising out of the Green Revolution ?
(A) Increase in production and productivity (B) Labour displacement

(C) Promotion of capitalist agriculture (D) More than one of the above
The Bengal Sati Regulation Act was passed in the year ‘

(A) 1829 (B) 1806 . (C) 1826 (D) 1819
Who is considered as the father of Green Revolution at the world level ?

(A) Thomas Malthus (B) Norman Borlang

(C) Cecil Salman - (D) William S. Gaud

Why was second Green Revolution launched by the government ?
(A) To boost agriculture production with sustainable approach.
(B) To boost economic export.

(C) To hoost tertiary sector combination,

(D) To boost industrial production with sustainable approach.

In which of the following year did the First Amendment Act of the Constitution of India came into

force ?
(A) 1971 (B) 1951 (C) 1989 (D) 1949

occurs when there is orderly and progressive changes ina human being due to maturation

and experience.
(A) Growth (B) Development

(C) Physical changes (D) Mental changes

Which is the institution to rehabilitate juvenile delinquency ?
(A) Juvenile courts (B) Remand homes
(C) Foster homes (D) All of the above

[BGR] rro. B
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245. Which is / are the scheme introduced by the Government of India to remove unemployment ?
(A) IRDP (B) NREP
(C) MGNREGA (D) All of the above

246. In which vear National Policy on older persons was enacted ?

(A) 1998 (B) 1999 (C) 2000 (D) 2001

247. Which of the following is not true with respect to NITI Aayog ?
(A) Top down approach for development (B) Cooperative Federalism

(C) Sustainable development (D) None of the above

248. National Human Rights Commission of India is a

(A) Constitutional body (B) Statutory body
(C) N.G.O. (D) None of the above

249. What is the time limit for disposal of first appeal by the first appellate authority ?
(A) 10 — 15 days (B) 30 — 45 days
(C) 50 — 65 days ; (D) None of the above

250. Which of the following plays an important role in the development of moral values in a child?
(A) Prayer meeting . (B) Socialization
(C) Intellect ' (D) All of the above

251. Check causation relationship between the two statements.
1. Dang Darbar cultural fair is held during Holi festival in the Dang region
2. In this fair, the descendants of the tribal kings of the past in the Dang region, are honoured.
(A) Both 1 and 2 are correct . (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) 1 is correct and 2 is incorrect

252. Choose the correct option.
1. In Panchmahal, Chool fair is held on the second day of Holi (dhuleti)
2. In Panchmahal, on the fifth, seventh or twelfth day after Holi, ‘Gol Gadheda’ fair is held.
(A) Both 1 and 2 are incorrect. (B) 1 is incorrect and 2 is correct.

(C) Both 1 and 2 are correct. (D) 1is correct and 2 is incorrect.

253. Choose the correct option.
1. Madad dance is popular among the Kunkand tribals living in South Gujarat.

2. Tur dance is popular among the Chaudhary tribals living in South Gujarat.
(A) Both I and 2 are incorrect (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are correct (D) 1 is correct and 2 is incorrect
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Match the following pairs.

A B

a. Sushir Vadya 1. Kingari

b. Ghana Vadya 2. Drum

c. Avanadhya Vadya 3. Thali

d. Tantu Vadya 4. Tadapu
(AYa-1,b-2,c-3,d-4 (B)a-2,b-3,c-4,d-1
(C)a-4,b-1,¢c-3,d-2 (D)a-4,b-3,c-2,d-1

Select the proper option.
1. ‘Baba Ram's story” is also known as ‘Bhilodi Ramayan’

2. ‘Rom Sitmani Warta’ folktale is popular as oral tradition among Nayaka tribal caste.
(A) 1is correct and 2 is incorrect

(B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are correc-t

(D) Both 1 and 2 are incorrect

Which of the following Chief Ministers recently released India's first encyclopedia on tribal
communities : "Encyclopedia of Tribes'?

(A) Himanta Biswa Sarma (B) Naveen Patnaik
(C) Vishnudeo Sai (D) Hemant Soren

On the basis of which Article of the Constitution primitive castes, premordial communities or
tribes, are referred to as scheduled tribes ?

(A) Article 341 and 342 (1) (B) Article 354 and 355
(C) Article 340 (D) Article 14

When was tribal block formed for development of scheduled tribes ?
(A) 1961 (B) 1971
(C) 1989 (D) 1999

Match the following pairs :

A B

a. Bhil 1. Paintings of Gotraj

b. Kunkana 2. Paintings of Pasali

¢. Bhil Garasiya 3. Paintings of Bharadi
d. Chaudhary 4. Paintings of Nava
(A)a-4,b-1,c¢-3,d-2 B)ya-2,b-3,c-4,d-1
(C)a-3,b-2,c-1,d-4 D)ya-4,b-3,c-2,d-1
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Select the correct option :

1. Influence of Marathi language is secen on Kunkana dialect.

2. Kunkana dialect spoken in the Dang district, is also known as ‘Dangi’ dialect.
(A) 1 and 2 both are correct (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) 1 is correct and 2 is incorrect

By what other names are the folk songs of Kharva known ?
(A) Khayana (B) Abavani
(C) Chheliya (D) Sarjuvani

Select the correct option.

1. The story of the origin of the earth is mentioned in Kanasari's Katha, popular among the tribals
of South Gujarat.

2. Kunkana Ramkatha is edited by Shri Bhagwandas Patel

(A) Both 1 and 2 are correct (B) 1 is incorrect and 2 is correct
(C) Both 1 and 2 are incorrect (D) 1 is correct and 2 is incorrect

When is Gai gohri (Cow gohri) fair held ?
(A) Kartika Sud Ekam (B) Fagan Vad Ekam
(C) Fagan Sud Poonam (D) Aso Sud Ekam

Arrange the tribal castes living in Gujarat in ascending order in terms of population and select the
correct option._

(A) Halpati, Dhodia, Padhar, Bhil (B) Bhil, Halpati, Dhodia, Padhar

(C) Dhodia, Padhar, Bhil, Halpati (D) Padhar, Dhodia, Halpati, Bhil

Select the correct option :

1. Padhar tribal women wear a coloured petticoat of eight to ten yards of length and a sleeveless
closed necked blouse.

2. Padhar tribal men wear only 10 inch cloth and wrap only one band around head.
(A) 1is correct and 2 is incorrect (B) 1is incorrect and 2 is correct
(C) Both 1 and 2 are incorrect (D) Both 1 and 2 are correct

1. The Dubala caste people make large living man-sized dolls out of rags on Diwaso (New moon
day of the month of Ashadha) day. A hat, coat, trousers and tie are worn to this doll. A cigar or
cigarette is also inserted in the mouth. The procession of this doll goes to the river bank and then
the ‘doll’ is immersed. )

2. Bhai community of Bharuch district celebrates the day of Ashadh Sud Dasham (tenth day of the
bright-half of the waxing moon of the month of Ashadh) as the festival of Meghraja. The clay
statue of Meghraja is worshipped for ten days. On the tenth day, with that statue, Meghraja's
chhadi (rod) (procession) pass through the village and at last the statue is offered respectfully
into river or lake.

(A) 1 is correet and 2 is incorrect (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) Both 1 and 2 are correct
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Choose the correct option :
1. *Mali no Chalo’ dance is popular in Dang region.

2. Only male participate in the ‘Mali no Chalo’ dance.
(A) lis correct and 2 is incorrect

(B) 1 is incorrect and 2 is correct
(C) Both 1 and 2 are incorrect

(D) Both 1 and 2 are correct
Match the following pairs :

A B

a. an ornament to wear on head 1. Pawaliya

b. an ornament to wear on neck 2. gujariyo

3. Kidiya or Chhid

4. Mendali
(B)a-4,b-3,c-2,d-1
(D)a-2,b-3,c-4,d-1

c. an ornament to wear on hand
d. an ornament to wear on leg
(A)a-3,b-2,c-1,d-4
(C)a-4,b-2,c-3,d-1

Choose the correct option :
1. Among the Tadavi tribes living in Sankheda, Naswadi, Tilakwada, Jambugam, Dabhoi etc areas,
Timboli, Matali, Aadi Matali, Ambali Godho, Aaleni, Kudaniya etc. dances are performed.

2. Tadavi women gather at night and sing ‘Rolla’ dance songs, dancing by fastening waist band of
hands on each other’'s waist.

(A) 1 is correct and 2 is incorrect (B) 1is incorrect and 2 is correct
(C) Both 1 and 2 are incorrect (D) Both 1 and 2 are correct

Match the following pairs :

A B

a. Jonviyo dhol (drum) - 1. While exorcising ghosts, instruments are played to sound
the bells. _ .

b. Zori dhol (drum) 2. Played to rally the community on occasion of death, fear
of enemies.

¢. Tuhala no/Manlla no dhol (drum) 3. Played at the time of Holi or marriage function

d. Vaari dhol (drum) 4. Played at the time of bringing idols of God / Deities

(A)a-3,b-2,c-1,d-4 (B)a-3,b-4,c-1,d-2

(C)a-4,b-2,c-3,d-1 (D)ya-4,b-3,c-2,d-1

Match the following :

A B

a. Dr. Navneet Fojdar 1. Samp Sabha

b. Jugatram Dave 2. Sarvodaya Parivar Trust, Dharmpur

¢. Thakkarbapa 3. Raniparaj Sevasabha

d. Govind Guru 4. Bhil Seva Mandal

(A)a-2,b-3,¢c-4,d-1 (B)a-3,b-4,c-1,d-2

(C)a-4,b-2,¢c-3,d-1 (D)a-4,b-3,c-2,d-1
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Seleet the correct statement regarding the Gamit community.

1. Gamits occasionally pray to Hadar Jodev and Anderdey as family God. They live in Palanpur,
Danta and Vadgam,

2. Marriages among the Kids of maternal among Gamits and Khandhad (ghar Jamai) (Matrilocal

Pattern) can also be brought in society.
(B) 1 is incorrect and 2 is correct

(A) Both 1 and 2 are correct
(D) 1is correct and 2 is incorrect

(C) Both 1 and 2 are incorrect

Consider the following statement regarding Dhodia community.

1. In Dhodia tribals, intermediary, who manages to arrange the marriage, is known as ‘Vahtalio’
2. Among Dhodia tribals, the groom's father gets dowry from the bride's family.

(B) 1 is incorrect and 2 is correct

(D) 1 is correct and 2 is incorrect

(A) Both 1 and 2 are correct
(C) Both 1 and 2 are incorrect

Find the correct option about the Dhanka community.
1. There is a practice of ‘Melwado’ procession among the Dhanka tribals to cure humans and

animals from diseases.
2. The Chariot of ‘Melwado’ practice proceeds from the outskirts of one village to another, and

finally reaches Kalika Mata temple at Pavagadh.
(B) Both 1 and 2 are incorrect

(A) 1 is incorrect and 2 is correct
(D) 1 is correct and 2 is incorrect

(C) Both 1 and 2 are correct

Select the correct statements about the Bhil community.
1. In the Bhil community, deluge (destruction by water) is considered as a living character in the

popular story of the origin of the earth.
2. God-Goddess Jalunkar lord, Umiya and Shiva are incarnated from the same water.
(B) Both 1 and 2 are incorrect

(A) 1 is incorrect and 2 is correct.
(D) Both 1 and 2 are correct

(C) 1 is correct and 2 is incorrect

Among the following tribes of Gujarat' which one has lowest literacy rate according to census,

2011 2 -
(A) Dhodia
(C) Chaudhari
Among the following primitive tribes which one has lowest population according to census, 2011?
(B) Kathodi
(D) Kolgha

(B) Gamit
(D) Rathwa

(A) Siddi
(C) Kotwalia
Which one of the following sequence of districts is correct from highest to lowest in proportion of

tribal population according to census, 20117
(A) Dangs, Narmada, Tapi, Dahod, Valsad
(B) Dangs, Tapi, Narmada, Dahod, Valsad
(C) Dangs, Dahod, Narmada, Tapi, Valsad
(D) Dangs, Tapi, Dahod, Valsad, Narmada
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Which sex ratio is correct for the tribes of Gujarat according to census, 2011 ?
(A) 919 female for 1000 male (B) 921 female for 1000 male
(C) 961 female for 1000 male (D) 981 female for 1000 male

Who has classified tribals into two sections on the basis of their population ?

(A) S. C. Dube (B) B. R. Chauhan
(C) D.N. Majumdar (D) G. S. Ghurye

Among the following who has classified tribals into four categories on the basis of cultural
perspective ?

(A) Verrier Elwin (B) N. K. Bose
(C) D. N. Majumdar ' (D) G. S. Ghurye

Which one of the following tribes is not found iﬁ Gujarat State ?
(A) Kolgha (B) Kathodi
(C) Korwa (D) Kotwalia

How much percent of Gujarat’s geographical area covers tribal sub-plan ?
(A) 17 : (B) 18
(C) 16 (D) 19

Which one of the following is not associated with the Gujarat CM’s programme of tribal
development launched on February 27, 2007 ?

(A) Qualitative and Sustainable Empowerment
(B) Safe Drinking Water for all

(C) Health forall

(D) Land for all

To generate tribal employability which one of the following cultivation is termed as ‘Green Gold®
recently by C.M. of Gujarat ?

(A) Wheat (B) Sugarcane

(C) Bamboo (D) Teak

Which one of the following is not a characteristic of tribal economy ?
(A) Primitive farming (B) Commercial farming

(C) Shifting cultivation _ (D) Self sufficiency

Who among the following supported V. Elwin’s idea of national park to prevent exploitation of
tribals from non-tribal people ?

(A) A. V. Thakkar (B) Jugatram Dave

(C) Mahadev Desai, (D) Birsa Munda
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To control over forest resources il_\' focal tribes who at first gave the slogan of “Jan, Jangal,
Jameen'?

(A) Ramji Gond (B) Birsa Munda

(C) Komaram Bheem (D) Govind Guru

What is the literacy rate among the lrih'cs in India according to census, 2011 ?
(A) 58 percent (B) 59 percent
(C) 57 percent ¥ (D) 56 pereent

Who among the following recommends that there is a need for greater gender focus and social
mobilization to encourage education among tribal girls ?

(A) Varginus Xaxa (B) D. S. Bhuria
(C) A. K. Mathur (D) B. N. Srikrishna

Which one among the following is not mainly associated with tribal indebtedness ?
(A) Land alienation . (B) Lack of job opportunity
(C) Traditional way of agriculture (D) Free social atmosphere

To improve economic condition of tribes in which year government of Gujarat has established
Tribal Development Corporation ?

(A) 1982 (B) 1992
(C) 1972 (D) 2002

What is the main cause of migration among the tribes ?
(A) Nearness with nature (B) Parochialization
(C) Lack of basic facilities and amenities (D) None of the above

Which one of the following is not traditional occupation of the tribes ?
(A) Fishing (B) Hunting
(C) Cottage industry (D) Cultivation

Which one of the following is correct for the celebration of International Day of the
Indigenous People ?

(A) 21st September (B) 8th March

(C) 9th August (D) 3rd December

Who has worked for the promotion of education among the tribes of Gujarat ?
(A) Vallabhbhai Patel (B) Umashankar Joshi
(C) Jugatram Dave (D) Narhari Parikh

‘Nahari’ with reference to Gujarat stands for...
(A) Tribal food (B) Tribal dance

(C) Tribal dress (D) Tribal religion
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Who is the author of the book “Tribes of Gujarat” ?
(A) Vidyut Joshi (B) T.B. Naik
(C) Musta Ali Masyi (D) Ashwin B. Brahmbhatt

With respect to social group PV'Ts stands for...
(A) Periodic Vulnerable Tribal Groups

(B) Periodic Various Tribal Groups

(C) Particularly Vulnerable Tribal Groups
(D) Particularly Various Tribal Groups

Where is Tribal Research and Training Institute situated in Gujarat ?
(A) VNSG University, Surat '

(B) S. P. University, Vidyanagar

(C) Gujarat Vidyapith, Ahmedabad

(D) M. K. Bhavnagar University, Bhavnagar

[BGR]
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